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Q.1  Ifthe positions of the hundred's and the ten's digits within each number are interchanged, which of the following will be the unit's

digit of the second highest number thus formed?
528 643 891 621 952

X1 1

2 2

X33

X4 8
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680849370

6306803326992
6306803326993
6306803326990
6306803326991

Q.2

Ans

The sentence below has a word in which the letters are jumbled up. Rearrange the letters in capitals and write the correct version
below it.
The students were ROBED during their free period.

« 1. BORED

X 2. DEBRO

< 3. BEDRO

X 4 OREBD
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680835868

6306803274242
6306803274245
6306803274244
6306803274243
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Q3 A ¢ B means A is the brother of B.
A # B means A is the mother of B.
A * B means A is the daughter of B.

If the code of family is P# Q S R * S, who is the father among them?
Ans X 1. R

#2 5

X3 Q

X4 P

Question ID : 630680835883

Option 11D : 6306803274304
Option 2 ID : 6306803274305
Option 3 ID : 6306803274303
Option 4 ID : 6306803274302

Q.4  Select the option that is related to the third word in the same way as the second word is related to the first word.
Lion: Cub:: Dog:?

Ans w1 Puppy
X 2. Mare
X 3. Kitten
X 4. Foal

Question ID : 630680849402

Option 1 1D : 6306803327120
Option 21D : 6306803327121
Option 31D : 6306803327118
Option 41D : 6306803327119

Q.5  Select the number-pair in which the two numbers are related in the same way as the two numbers of the given number-pair.
82:410

Ans X 1. 46: 220
« 2. 66: 330
X 3. 76: 390
X 4 56:270

Question ID : 630680849466

Option 11D : 6306803327375
Option 2 ID : 6306803327376
Option 3 ID : 6306803327377
Option 4 ID : 6306803327374
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Q.6 Inacertain language, hi bi si means red and tasty, li bi ti means apple is red, and ti ni hi means food is tasty. Which of the following
does mean apple is tasty in that code?

Ans X1 ni hili
X 2. ti hi bi
3 tihili
X 4 nibiti

Question ID : 630680849365

Option 11D : 6306803326973
Option 2 ID : 6306803326970
Option 3 1D : 6306803326972
Option 4 ID : 6306803326971

Q.7 Ina certain code language, if TRICK is coded as 56, then what will TREAT be coded as?
Ans o« 1. 50

X2 62

X3 64

X 4 61

Question ID : 630680849362

Option 1 1D : 6306803326959
Option 2 ID : 6306803326961
Option 3 ID : 6306803326960
Option 4 1D : 6306803326958

Q.8  Which of the following numbers will replace the question mark (?) in the given series?
73,74,76,79, 83,7

Ans X 1. 80
+ 2. 88
X3 87
X 4 86

Question ID : 630680849445

Option 11D : 6306803327293
Option 2 ID : 6306803327291
Option 31D : 6306803327292
Option 4 ID : 6306803327290
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Q.9 If all odd numbers are deleted in the series which will be the 5th element from the right end?
678234561298432647832465

Ans X1 g
X2 2
X3 6
44

Question ID : 630680849379

Option 1 1D : 6306803327029
Option 2 ID : 6306803327026
Option 3 ID : 6306803327028
Option 4 ID : 6306803327027

Q.1 0 IfX denotes ‘multiplication’, Y denotes *addition‘. Z denotes “division’, and W denotes ‘subtraction’, then what will be the value of
the following equation?

I3W26Y 11X 18Z23="7

Ans 1. 72
X2 34
X 3. 59
s 4 53

Question ID : 630680835948

Option 11D : 6306803274565
Option 2 ID : 6306803274562
Option 31D : 6306803274564
Option 4 ID : 6306803274563

Q.11 [Ifthe positions of the hundred's and the unit's digit within each number are interchanged, which of the following will be the ten's digit
of the second lowest number thus formed?

456 231 765 872 941

Ans 1. 4
X2 7
X33
X 45

Question ID : 630680849369

Option 11D : 6306803326986
Option 2 ID : 6306803326989
Option 3 1D : 6306803326988
Option 4 1D : 6306803326987
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321678 : 876123 :: 7568421 : 7

Ans X1 1425876
X 2. 1248576
« 3. 1248657
X 4. 1245867

Q.12 Select the option that is related to the third number in the same way as the second number is related to the first number.

Question ID : 630680835971

Option 11D : 6306803274657
Option 2 ID : 6306803274655
Option 3 ID : 6306803274654
Option 41D : 6306803274656

Wall : Paint :: Shoe : ?

Ans 1. Polish
X 2. Whitewash
X 3. Plaster
X 4. Spray

Q.13 Select the option that is related to the third word in the same way as the second word is related to the first word.

Question ID : 630680849403

Option 11D : 6306803327124
Option 2 ID : 6306803327123
Option 3 ID : 6306803327122
Option 4 ID : 6306803327125

Q14 If <P x Q’ means ‘P is the father of Q".

If ‘P + Q" means ‘P is the brother of Q’.
If ‘P + Q' means ‘P is the husband of Q’.
If ‘P—Q’ means ‘P is the son of Q’.

How is A related to D in the expression ‘A+ B - C x D"
Ans X1, Son

X 2. Father

X 3. Husband

« 4 Brother

Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

630680849382

6306803327039
6306803327041
6306803327040
6306803327038
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Q.15 Which of the following numbers will replace the question mark (?) in the given series?
13,26,52, 104, 7

Ans X1 216
« 2. 208
X3 212
X4 204

Question ID : 630680849447

Option 11D : 6306803327299
Option 2 ID : 6306803327300
Option 31D : 6306803327301
Option 4 ID : 6306803327298

Q16 Select the option that has the same relation as the number-pair below.
312: 36

Ans  X1.121: 18
X2 221:70
3. 254121
X4 33:81

Question ID : 630680835981

Option 11D : 6306803274696
Option 2 ID : 6306803274697
Option 31D : 6306803274695
Option 4 ID : 6306803274694

Q.17 Select the option that is related to the third word in the same way as the second word is related to the first word.
Yen : Japan :: Ringgit : 7

Ans X 1. China
« 2. Malaysia
X 3. Australia
X 4. France

Question ID : 630680849407

Option 11D : 6306803327141
Option 2 ID : 6306803327139
Option 31D : 6306803327140
Option 4 ID : 6306803327138



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Google Play

Q.18 Ifdigits within each number are arranged in ascending order, which of the following will be the ten's digit of the least number thus
formed?

453 678 219 538 684

Ans o1 2
X25
X3 7
X4 4

Question ID : 630680849439

Option 11D : 6306803327268
Option 2 ID : 6306803327269
Option 31D : 6306803327267
Option 4 ID : 6306803327266

Q.19 If digits within each number are arranged in ascending order, how many prime numbers will be thus formed?
81 35 91 87 63 45

Ans X 1.
x 2
&3
X 4

bd = e L

Question ID : 630680849441

Option 1 ID : 6306803327275
Option 2 ID : 6306803327277
Option 31D : 6306803327276
Option 4 ID : 6306803327274

Q.20 Select the option that is related to the third number in the same way as the second number is related to the first number.
910 :810:: 8463 : 7

Ans X 1. 8102
X 28432
X 3 8932
« 4 8363

Question ID : 630680835974

Option 1 1D : 6306803274669
Option 2 ID : 6306803274666
Option 31D : 6306803274668
Option 4 ID : 6306803274667

Section : General intelligence and Reasoning Ability 2
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Q.1  Select the option related to the third letter cluster in the same way as the second letter cluster is related to the first letter cluster.
EFG:FEH:KLM:?

Ans X 1. 1EO
X 2. LMN
X 3. KKO
o 4 LKN

Question ID : 630680849401

Option 11D : 6306803327116
Option 2 ID : 6306803327115
Option 3 1D : 6306803327114
Option 4 1D : 6306803327117

Q.2  Five boys Ajay, Mohit, Nayan, Sameer, and Vijay play the piano on five different days, starting on Tuesday and ending on Saturday.
Nayan plays the piano immediately after Sameer. Only two persons play the piano between Ajay and Sameer. Vijay plays the piano
on the day immediately before Mohit. Who plays the piano on Saturday?

Ans 1 Ajay
X 2. Sameer
« 3. Nayan
X 4. Mohit

Question ID : 630680849349

Option 11D : 6306803326908
Option 2 ID : 6306803326906
Option 3 ID : 6306803326907
Option 4 ID : 6306803326909

Q.3  Which of the following terms will replace the question mark (?) in the given series?
HK3, GLS, FM7, EN9, ?

Ans X1 CO12
« 2. DOI11
X 3. DPIL
X 4 DPI12

Question ID : 630680849427

Option 11D : 6306803327221
Option 2 ID : 6306803327219
Option 3 ID : 6306803327220
Option 4 ID : 6306803327218
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Q.4 Ifroom is called building, building is called window, window is called floor, floor is called door, where will a person stand on?
Ans 1. Door
X 2. Floor
X 3. Room
X 4 Window
Question ID : 630680849368
Option 11D : 6306803326985
Option 2 ID : 6306803326982
Option 31D : 6306803326983
Option 4 1D : 6306803326984
Q.5  Select a figure from amongst the four alternatives, which when placed in the blank space of the figure would complete the pattern.
?
Ans
o 1.
X 2.
x 3.
x4
Question ID : 630680849430
Option 11D : 6306803327231
Option 2 ID : 6306803327230
Option 31D : 6306803327232
Option 4 ID : 6306803327233
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Q.6 Which of the following terms will replace the question mark (?) in the given series?
A26, B25, D23, G20, ?
Ans X 1. L15
« 2 K16
X3 JI5
X4 016
Question ID : 630680849428
Option 11D : 6306803327225
Option 2 ID : 6306803327223
Option 31D : 6306803327222
Option 4 ID : 6306803327224
Q.7  Five friends Harish, Jignesh, Mahesh, Tarun and Umang are sitting on a bench facing the north but not necessarily in the same order.
Harish sits to the immediate left of Tignesh. Mahesh sits to the immediate right of Umang. JTignesh and Tarun sit adjacent to each
other. Umesh does not sit on the left most end. Who sits on the left most end?
Ans 1. Harish
X 2. Tarun
X 3. Mahesh
X 4. Jignesh
Question ID : 630680849344
Option 11D : 6306803326887
Option 2 ID : 6306803326888
Option 31D : 6306803326889
Option 4 ID : 6306803326886
Q.8  Four letter-clusters have been given, out of which three are alike in some manner and one is different. Select the odd letter-cluster.
Ans X 1. NPR
« 2. ABD
X 3. DFH
X4 VXZ
Question ID : 630680849417
Option 11D : 6306803327179
Option 2 ID : 6306803327181
Option 31D : 6306803327178
Option 4 ID : 6306803327180
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Q.9  Four word-pairs have been given, out of which three are alike in some manner and one is different. Select the odd word pair.

Ans 1. Cobbler : Shoes
X 2. Plumber : Wrench

X 3. Carpenter : Hammer

& 4. Chef : Knife

Question ID : 630680849414

Option 1 1D : 6306803327169
Option 2 ID : 6306803327166
Option 31D : 6306803327167
Option 4 ID : 6306803327168

Q.10 Tiwo Statements are given followed by two conclusions numbered I and II. Assuming the statements to be true, even if they seem fo
be at variance with commonly known facts, decide which of the conclusions logically follow(s) from the statements.
Statement I: No club is a Pub.
Statement II: No Pub is a bar.
Conclusion I: No club is a bar.
Conclusion II: No bar is a Pub.

Ans X' 1. Both conclusions I and II follow

X 2. Neither conclusion I nor II follows

X 3. Only conclusion I follows

« 4. Only conclusion II follows

Question ID : 630680849391

Option 11D : 6306803327076
Option 2 ID : 6306803327077
Option 3 ID : 6306803327074
Option 4 ID : 6306803327075

Q.11 Five persons B, F, I, N, and R live in a five-storey building. The ground floor is mumbered 1, the floor just above it is numbered 2,
and so on till the topmost floor which is numbered 5. Only two people live between F and B. R does not live on the second floor.
Only one person lives between N and J. N lives above B. T lives below B. Who lives on the fourth floor?

Ans 21 R
X2 B
X3 F
X4 N

Question ID : 630680849356

Option 11D : 6306803326934
Option 2 ID : 6306803326937
Option 3 1D : 6306803326935
Option 4 1D : 6306803326936
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Q.12 U.V.W.X, and Y live on a five-floor building, each floor having only one flat. The bottommost floor is numbered as 1 and the floor

immediately above it is numbered as 2 and so on. X lives just below Y. W, U and V live on consecutive floors in the same order. No
one lives below V. Who lives just below X?

Ans  oC 1 vV
X2Y
@3 W
X4 U

Question ID : 630680849355

Option 11D : 6306803326933
Option 2 ID : 6306803326930
Option 31D : 6306803326931
Option 4 ID : 6306803326932

Q13 Choose the figure which is different from the rest.

Ans

T REE

Question ID : 630680835942

Option 1 ID : 6306803274539
Option 2 ID : 6306803274541
Option 31D : 6306803274538
Option 4 ID : 6306803274540
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Q.14 Which of the following letters will replace the question mark (?) in the given series?
F.G.J, K. N,?

Ans 1.0
X2 R
X3P
x4 Q

Question ID : 630680849423

Option 11D : 6306803327204
Option 2 ID : 6306803327203
Option 31D : 6306803327205
Option 4 ID : 6306803327202

Q.15 Four word-pairs have been given, out of which three are alike in some manner and one is different. Select the odd word pair.

Ans X 1. Laptop : Desktop
« 2. Sugar : Salt
X 3. Coke : Pepsi
X 4. Android : IOS

Question ID : 630680849415

Option 11D : 6306803327172
Option 2 ID : 6306803327171
Option 31D : 6306803327170
Option 4 ID : 6306803327173

Q_1 6 Sixfriends A, C,F, N, P, and R are sitting around a circular table facing toward the center. C sits to the immediate right of A. N sits
third to the right of F. N sits to the immediate right of P. Who sits to the immediate left of P?

Ans X 1. C
2 R
X3 A
X4 F

Question ID : 630680849343

Option 11D : 6306803326884
Option 2 ID : 6306803326883
Option 31D : 6306803326885
Option 4 ID : 6306803326882
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Q.17 Five friends A, C, Q. W and Y are sitting around a circular table facing away from the center. C sits to the immediate left of A. Q sits
to the immediate right of W. W does not sit adjacent to A. Who sits to the immediate left of Y?

Ans X 1. W
X2C
X3 Q
A A

Question ID : 630680849341

Option 11D : 6306803326877
Option 2 ID : 6306803326874
Option 3 1D : 6306803326876
Option 4 1D : 6306803326875

Q.18 Two Statements are given followed by two conclusions numbered I and II. Assuming the statements to be true, even if they seem to

be at variance with commonly known facts, decide which of the conclusions logically follow(s) from the statements.
Statement I: All cats are dogs.

Statement II: All dogs are toys.
Conclusion I: Some cats are toys.

Conclusion IT: Some toys are cats.

Ans 1. Both conclusions I and II follow
2. Neither conclusion I nor II follows
X 3. Only conclusion II follows
X 4. Only conclusion I follows
Question ID : 630680849389
Option 11D : 6306803327068
Option 2 ID : 6306803327069
Option 3D : 6306803327067
Option 4 ID : 6306803327066
Q19 Select the wrong term in the given letter series.
D.HN.W.ER
Ans X' 1. R
X2F
¥ 3 W
X4 N

Question ID : 630680849422

Option 11D : 6306803327198
Option 2 ID : 6306803327199
Option 3 ID : 6306803327200
Option 4 ID : 6306803327201
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Q.20 Four letter-clusters pairs have been given, out of which three are alike in some manner and one is different. Select the odd letter-
cluster pair.

Ans X 1. GV :EX
X2 SB:QD

73 AQ:XS
X 4. ZM:XO

Question ID : 630680849409

Option 1 1D : 6306803327149
Option 2 ID : 6306803327146
Option 3 ID : 6306803327148
Option 4 ID : 6306803327147

Section : General Awareness 1

Q.1 Which of the following is not a New Year festival?
A. Ugadi
B. Vishu
C. Gudhi Padwa
D. Pongal

Ans  4# 1.0nlyD
X 2.AC,andD
X 3.AB,CandD
X 4.B,C,and D

Question ID : 630680849266

Option 11D : 6306803326583
Option 2 ID : 6306803326582
Option 3 ID : 6306803326585
Option 4 ID : 6306803326584

Q.2 Which Indian athlete will carry the Olympic torch in Paris for the 2024 Paris Olympics?
Ans X 1. Mary koi

X 2. Neeraj Chopra
#< 3. Lovlina Borgohain
«" 4. Abhinav Bindra

Question ID : 630680849198

Option 11D : 6306803326313
Option 2 ID : 6306803326310
Option 3 1D : 6306803326312
Option 4 ID : 6306803326311
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Q.3 Apart from Navratri, which festival in Gujarat is celebrated for five days during
Mahashivratri in February?

Ans 4 1. Bhavnath Mahadev Fair
75 2. Modhera Dance Festival
/5 3. Dang Darbar Fair
< 4.Rann Utsav

Question ID : 630680849263
Option 11D : 6306803326572
Option 2 ID : 6306803326571
Option 3 ID : 6306803326573
Option 4 ID : 6306803326570
Q.4 Which of the following nitrogenous bases is present in DNA but not in RNA?
Ans X 1. Uracil
75 2. Guanine
" 3. Thymine
X 4. Cytosine
Question ID : 630680849305
Option 11D : 6306803326741
Option 2 ID : 6306803326740
Option 3 1D : 6306803326739
Option 4 ID : 6306803326738
Q.5 Who won a gold medal in the 10m air rifle event at the ISSF World Cup, 2024?
Ans X 1.Bhowneesh Mendiratta
«" 2. Divyansh Singh Panwar
3. Arjun Singh
/X 4. Gagan Narang
Question ID : 630680849193
Option 11D : 6306803326291
Option 2 ID : 6306803326293
Option 3 ID : 6306803326290
Option 4 ID : 6306803326292
Q.6 What genre of literature does the Booker Prize primarily focus on?
Ans X 1.Drama
< 2. Non-fiction
«" 3. Fiction
X 4. Poetry
Question ID : 630680849251
Option 11D : 6306803326525
Option 2 ID : 6306803326522
Option 3 1D : 6306803326523
Option 4 ID : 6306803326524



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Addaizy7 Eooale Play

Q.7 What organic compounds are fats and oils composed of?
Ans  # 1. Carbon, hydrogen, and oxygen

X 2. Carbon and nitrogen
#X 3. Carbon, hydrogen, and nitrogen
#X 4. Carbon, oxygen, and nitrogen

Question ID : 630680849307

Option 11D : 6306803326747
Option 2 ID : 6306803326749
Option 3 1D : 6306803326748
Option 4 ID : 6306803326746

Q.8 What is the maximum subsidy provided to Women SHGs for the purchase of drones under
the Namo Drone Didi scheme?

Ans X 1.50% of the drone cost or a maximum of Rs. 10 lakh
& 2. 80% of the drone cost or a maximum of Rs. 8 lakh
75 3.Rs. 5 lakh per drone
/5 4.60% of the drone cost

Question ID : 630680849218

Option 11D : 6306803326392
Option 2 ID : 6306803326393
Option 3 ID : 6306803326391
Option 4 ID : 6306803326390

Q.9 Which artificial sweetener is approximately 550 times sweeter than cane sugar?
Ans  # 1.Saccharin

X 2. Sucralose
/X 3. Aspartame
X 4. Alitame

Question ID : 630680849316

Option 11D : 6306803326784
Option 2 ID : 6306803326782
Option 3 1D : 6306803326785
Option 4 1D : 6306803326783

Q.10 Which literary award honours creative literary writing in any of the 22 recognized Indian
languages?

Ans  # 1. Jnanpith Award
/5 2. Pulitzer Prize
/5 3. Sahitya Akademi Bal Sahitya Puraskar
X 4. Booker Prize

Question ID : 630680849252

Option 1 1D : 6306803326528
Option 2 ID : 6306803326529
Option 31D : 6306803326526
Option 4 ID : 6306803326527
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Q.11 Which government agency plans to collaborate with ISRO for deploying V-SAT stations in
tribal villages?

Ans X 1. Ministry of Education
5 2. Ministry of Home Affairs
Z5 3. Ministry of Rural Development
" 4. Ministry of Tribal Affairs

Question ID : 630680849223

Option 11D : 6306803326412
Option 2 ID : 6306803326410
Option 31D : 6306803326411
Option 4 1D : 6306803326413

Q.12 Which reserve in Maharashtra has been designated as India’s first international Dark Sky
Park?

Ans X 1. Ranthambore Tiger Reserve
X 2. Tadoba Andhari Tiger Reserve
" 3. Pench Tiger Reserve

X 4. Bandipur Tiger Reserve

Question ID : 630680849202

Option 11D : 6306803326327
Option 2 ID : 6306803326328
Option 3 ID : 6306803326329
Option 4 ID : 6306803326326

Q.13 Which type of protein causes coagulation in milk during the cheese-making process?
Ans 1. Casein

/< 2. Gluten
/5 3. Gelatin
25 4. Ovalbumin

Question ID : 630680849308

Option 1 ID : 6306803326750
Option 2 ID : 6306803326753
Option 31D : 6306803326751
Option 4 ID : 6306803326752

Q.14 Where will the pilot deployment of V-SAT (very small aperture terminal) stations take place?
Ans X 1.Urban areas

75 2. Mountain Border areas
" 3. Tribal villages

X 4. Coastal regions

Question ID : 630680834964

Option 1 ID : 6306803270670
Option 2 ID : 6306803270673
Option 31D : 6306803270672
Option 4 ID : 6306803270671
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Q.15 What additional group does the Jammu and Kashmir Local Bodies Laws (Amendment) Bill,
2024 aim to provide reservation for in panchayats and Municipal Bodies of Jammu and
Kashmir?

Ans  # 1. Other Backward Classes (OBCs)
< 2. Afghan Indians
< 3. Jewish community

X 4. Jains

Question ID : 630680849214

Option 11D : 6306803326375
Option 2 ID : 6306803326374
Option 31D : 6306803326377
Option 4 ID : 6306803326376

Q.16 Which value system supports the commodification of nature?
Ans X 1. Socialist values

" 2. Capitalist values
< 3. Environmentalist values

X 4. Religious values

Question ID : 630680849318

Option 11D : 6306803326790
Option 2 ID : 6306803326793
Option 3 1D : 6306803326792
Option 4 ID : 6306803326791

Q.17 According to Article 351 of the Constitution, what is the primary source for enriching the
Hindi language?

Ans X 1. Tamil
25 2. Urdu

5 3. Telugu
" 4. Sanskrit

Question ID : 630680849257

Option 11D : 6306803326549
Option 2 ID : 6306803326546
Option 31D : 6306803326548
Option 4 ID : 6306803326547

Q.18 Who launched the Swachhata Green Leaf Rating (SGLR) initiative?
Ans X 1. Department of Environment and Forests (MoEF)

X 2. Ministry of Environment, Forest and Climate Change
" 3. Department of Drinking Water & Sanitation (DDWS), Ministry of Jal Shakti

X 4. Ministry of Sustainability and the Environment

Question ID : 630680849206

Option 11D : 6306803326343
Option 2 ID : 6306803326342
Option 3 ID : 6306803326344
Option 4 ID : 6306803326345
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Q.19 What is the second official language of Uttarakhand?
Ans X 1. Kumaoni

X 2. Garhwali
" 3. Sanskrit
< 4. Hindi

Question ID : 630680849261

Option 11D : 6306803326563
Option 2 ID : 6306803326562
Option 3 1D : 6306803326565
Option 4 ID : 6306803326564

Q.20 What is the composition of eukaryotic ribosomes 80S?
Ans X 1.60S and 20S subunits

" 2. 60S and 40S subunits
2< 3.70S and 10S subunits
25 4.70S and 30S subunits

Question ID : 630680849312

Option 11D : 6306803326767
Option 2 ID : 6306803326769
Option 31D : 6306803326768
Option 4 ID : 6306803326766

Section : General Awareness 2

Q.1 Which river is famous for its badland topography called the Chambal ravines?
Ans X 1.Gandak

X 2. Kosi
¥ 3. Chambal
/X 4. Ghaghara

Question ID : 630680849273

Option 11D : 6306803326611
Option 2 1D : 6306803326612
Option 3 1D : 6306803326610
Option 4 1D : 6306803326613

Q.2 What landforms are indicative of the youthful stage of rivers in the Himalayas and
Peninsular mountains?

Ans  # 1. Gorges, V-shaped valleys, rapids
X 2. Estuaries, barrier islands, sandbars
X 3. Oxbow lakes, levees, distributaries

X 4. Deltas, floodplains, meanders

Question ID : 630680849271

Option 11D : 6306803326605
Option 2 ID : 6306803326604
Option 3 1D : 6306803326602
Option 4 1D : 6306803326603
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Q.3 How does Article 1 describe India in relation to its states?
Ans X 1. As a confederation of states

X 2. As a federation of states
" 3. As a Union of States

X 4. As an alliance of states

Question ID : 630680849302

Option 11D : 6306803326729
Option 2 ID : 6306803326727
Option 3 1D : 6306803326726
Option 4 ID : 6306803326728

Q.4 Who was executed by Aurangzeb in 1675, leading to the rise of the Sikh Guru?
Ans " 1. Guru Tegh Bahadur

#5 2. Guru Gobind Singh
< 3. Guru Nanak
#< 4. Guru Arjan Dev

Question ID : 630680834995

Option 11D : 6306803270796
Option 2 ID : 6306803270797
Option 31D : 6306803270794
Option 4 ID : 6306803270795

Q.5 Which Sultan established the city of Fatehabad and a hospital called Dar-ul-Shifa?
Ans  # 1. Firoz Shah Tughlaq

X 2. Alauddin Khilji
X 3. Mohammad-bin-Tughlaq
X 4. Sikandar Lodhi

Question ID : 630680849244

Option 1 1D : 6306803326496
Option 2 ID : 6306803326494
Option 3 ID : 6306803326497
Option 4 ID : 6306803326495

Q.6 How is unemployment defined by the National Sample Survey Organisation (NSS0)?
Ans  &# 1. Seeking work but not finding it

X 2. Inability to find a job
/X 3. Lack of education

/< 4. Disengagement from the labor force

Question ID : 630680834974

Option 11D : 6306803270710
Option 2 ID : 6306803270712
Option 3 1D : 6306803270713
Option 4 ID : 6306803270711
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Q.7 What electoral system does India primarily use for its general elections?
Ans X 1. Mixed Member Proportional (MMP)

¥ 2. First Past the Post (FPTP)
X 3. Single-member district plurality voting (SMDP)
/X 4. Single Transferable Vote (STV)

Question ID : 630680849295

Option 11D : 6306803326700
Option 2 ID : 6306803326699
Option 3 ID : 6306803326701
Option 4 ID : 6306803326698

Q.8 Under what circumstances can citizenship of India be lost?
Ans X 1. By holding public office in another country

Z< 2.By birth in India
" 3. By renunciation of citizenship

#< 4. By residing in India for an extended period

Question ID : 630680835050

Option 11D : 6306803271016
Option 2 ID : 6306803271014
Option 31D : 6306803271015
Option 4 ID : 6306803271017

Q.9 How many two-monthly seasons does the traditional Indian calendar divide a year into?
Ans X 1.Four

X 2. Twelve
« 3. Six
X 4. Eight

Question ID : 630680849278

Option 11D : 6306803326630
Option 2 ID : 6306803326633
Option 3 ID : 6306803326631
Option 4 ID : 6306803326632

Q.10 Which part of India receives inadequate rainfall, below 50 cm annually?
Ans X 1.0disha

X 2. Western Ghats
« 3. Ladakh
5 4. Manipur

Question ID : 630680849277

Option 11D : 6306803326627
Option 2 ID : 6306803326629
Option 3 1D : 6306803326628
Option 4 1D : 6306803326626
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Q.11 In which flower are the stamens attached to the perianth?
Ans o 1. Lily

X 2. Petunia
/< 3. Datura
X 4. Brinjal

Question ID : 630680849315

Option 11D : 6306803326778
Option 2 ID : 6306803326781
Option 3 1D : 6306803326780
Option 4 ID : 6306803326779

Q.12 What event marked the beginning of the Civil Disobedience Movement in 1930?
Ans X 1. First Round Table Conference

/5 2. Poona Pact
" 3. Dandi March or Salt Satyagraha
25 4. Quit India Movement

Question ID : 630680849239

Option 11D : 6306803326474
Option 2 ID : 6306803326477
Option 31D : 6306803326476
Option 4 ID : 6306803326475

Q.13 What is the normal term of office for a Governor?
Ans X 1.4years

o 2. Syears
X 3.6 years
X 4.3 years

Question ID : 630680849294

Option 11D : 6306803326695
Option 2 ID : 6306803326696
Option 3 ID : 6306803326697
Option 4 ID : 6306803326694

Q.14 Which jurisdiction of the Supreme Court deals with the enforcement of Fundamental
Rights?

Ans 4" 1. Original jurisdiction
< 2. Advisory jurisdiction
< 3. Writ jurisdiction

X 4. Appellate jurisdiction

Question ID : 630680835059

Option 1 1D : 6306803271050
Option 2 ID : 6306803271052
Option 31D : 6306803271053
Option 4 ID : 6306803271051
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Q.15 How is ex ante investment demand (I) represented?
C'is Autonomous consumption
C is consumption expenditure by households
S is savings per unit change in income
I'is autonomous investment in a given year

Ans X 1.1=S

F20=1
X 3.1=cC
X a1=y

Question ID : 630680834972

Option 11D : 6306803270702
Option 2 ID : 6306803270705
Option 3 ID : 6306803270703
Option 4 ID : 6306803270704

Q.16 How can Indian citizenship be acquired by registration?
Ans " 1. By being a person of Indian origin residing in India for 7 years

#< 2. By marrying an Indian citizen and residing in India for 2 years
#< 3. By residing in India for 12 years continuously

#< 4. By being born in India to Indian parents

Question ID : 630680849291

Option 11D : 6306803326684
Option 2 ID : 6306803326685
Option 31D : 6306803326683
Option 4 1D : 6306803326682

Q.17 Which component is NOT included in calculating Gross fiscal deficit?
Ans X 1.Borrowing from RBI

X 2. Net borrowing at home
«" 3. Equity shares

X 4. Borrowing from abroad

Question ID : 630680849229

Option 11D : 6306803326436
Option 2 ID : 6306803326434
Option 3 ID : 6306803326435
Option 4 ID : 6306803326437

Q.18 Which of the following states has the highest Muslim population percentage as per 2011
census?

Ans X 1. Tamil Nadu
X 2.Kerala
" 3. Lakshadweep
/X 4. West Bengal

Question ID : 630680849284

Option 11D : 6306803326655
Option 2 ID : 6306803326654
Option 31D : 6306803326657
Option 4 ID : 6306803326656
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Q.19 Which religious group has its major concentration in Lakshadweep?
Ans  # 1. Muslims

X 2. Buddhists
X 3. Sikhs
X 4. Christians

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680835042

6306803270983
6306803270985
6306803270982
6306803270984

Q.20 Which trio of leaders was known for their militant nationalism during the Extremist Phase of
the Indian National Movement?

Ans X 1. Aurobindo Ghosh, Bipin Chandra Pal, and Lala Lajpat Rai
75 2. Mahatma Gandhi, Jawaharlal Nehru, and Sardar Patel
" 3. Lala Lajpat Rai, Bal Gangadhar Tilak, and Bipin Chandra Pal
X 4. Subhas Chandra Bose, Bhagat Singh, and Chandrashekhar Azad

Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

630680849240

6306803326478
6306803326480
6306803326479
6306803326481

Section : Arithmetical and Numerical Ability 1

Q.1  The graph below shows the percent profit eamed by two companies producing mechanical equipment from the year 2017 to 2022.
Company A invested 216,000 more than company B in the year 2020. The profit earned by B was ¥ 6200 more than A. Find the ratio
of investment by the companies A and B in the year 2020.

—=—Company A —=—Company B
70
60
50
agﬁ 40
% 2
L")
Year
Ans X' 1. 27:25
X2 25:23
« 3. 55:51
X 4. 52:51
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680849603

6306803327660
6306803327661
6306803327658
6306803327659
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Q2 7356 L 64 NET3 _ 5
32 V1024 62 )

Ans X 1. 16
205
X3 1
x40

Question ID : 630680849636

Option 11D : 6306803327793
Option 2 ID : 6306803327791
Option 3 ID : 6306803327792
Option 4 ID : 6306803327790

Q.3  Avessel is filled with liquid, 5 parts of which are water and 7 parts lemon juice. How much of the mixture must be drawn off and

replaced with water so that the mixture may be half water and half lemon juice?

Ans 1
o1 —

7

x2 L

12

xa L

17

xa 1

5

Question ID : 630680849579

Option 11D : 6306803327563
Option 2 ID : 6306803327564
Option 3 ID : 6306803327565
Option 4 ID : 6306803327562

Q.4 The compound interest on ¥ 50,000 at 12% per annum is 12720, compounded annually. The period (in years) is:

Ans &1 2
X2 4
X3 1
x4 3

Question ID : 630680849592

Option 11D : 6306803327615
Option 2 ID : 6306803327617
Option 3 1D : 6306803327614
Option 4 ID : 6306803327616
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Q.5  The table below shows the marks of students in different subjects. Who scored the maximum marks in Science, Maths and English?

Subject (Max. Marks)
Student Maths Hindi Science Geography History English
(150) (130) (120) (100) (120) (120)
Aman 110 8s 9% 0 70 94
Shivam 100 120 80 88 80 70
Sajal %0 60 70 70 %0 70
Roshan 110 &5 9% 80 &0 5
Arvind 80 84 90 a5 50
Tanuj 70 75 65 85 40 86
Tarun 110 35 50 77 80 95
Ans X' 1. Tarun
+« 2. Roshan

X 3. Aman
X 4. Sajal

Question ID : 630680849609

Option 11D : 6306803327684
Option 2 ID : 6306803327683
Option 3 1D : 6306803327682
Option 4 ID : 6306803327685

Q.6 The bar graph below shows number of candidates appeared (in lakh) in different years and line graph shows percentage of candidate
qualified in examination over the years. What was the ratio between number of candidates appeared for exam ‘X’ in 2020 to the number

of candidates who did not qualified in 20187

X in different years (in Lakhs)

% of candicates qualifed

Ans

- 16115
- 64:15
- 15:64
- 15:16

X X X ¢

Question ID : 630680849604

Option 11D : 6306803327662
Option 2 ID : 6306803327663
Option 3 ID : 6306803327665
Option 4 ID : 6306803327664
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Q7 Find the sum of the cubes of the first 12 odd natural numbers.

Ans 1. 41328
X 2. 41358
X3 41364
X 4 41378

Question ID : 630680834800

Option 11D : 6306803270014
Option 2 ID : 6306803270015
Option 3 ID : 6306803270016
Option 4 1D : 6306803270017

Q.8  Piechart given below shows the percentage distribution of total number of male faculties in five different schools. Total male
faculties in all schools together = 7500
The number of female faculties in schools S and T both is 15% more than male faculties . The number of female faculties in school U
15 40% more than the number of male faculties. The total number of female faculties in school S, T and U is

No of Male Faculties in %

Ans X1, 5428
X 2. 3564
X 3. 6852
o 4 5340

Question ID : 630680849599

Option 11D : 6306803327642
Option 2 ID : 6306803327645
Option 31D : 6306803327643
Option 4 ID : 6306803327644

Q.9  If 42 men working 16 hours per day can reap a field in 16 days, in how many days, will 48 men reap the field working 8 hours per
day?

Ans X 1. 36 days
X 2. 32 days
« 3. 28 days
X 4. 42 days

Question ID : 630680849620

Option 11D : 6306803327728
Option 2 ID : 6306803327727
Option 31D : 6306803327726
Option 4 ID : 6306803327729
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Q10 yWhat js the sum of the squares of the first 22 even natural numbers?

Ans  X'1. 15320
« 2 15180
X 3. 15260
X 4. 15380

Question ID : 630680834806

Option 11D : 6306803270040
Option 2 ID : 6306803270038
Option 3 ID : 6306803270039
Option 4 ID : 6306803270041

Q.11 What is the compound interest on 5600 for 2 years at rate of interest 6% per annum, compounded annually?

Ans X 1. 7 694.48
X 2. Z684.56
« 3 T692.16
X 4 T 688.24

Question ID : 630680849591

Option 11D : 6306803327613
Option 2 ID : 6306803327610
Option 3 1D : 6306803327612
Option 4 ID : 6306803327611

Q12 , dining table is listed at ¥ 1500 is sold to a retailer at successive discounts of 18% and 15% by the wholesaler.
Then the cost price of the dining table for retailer is :

Ans 1. 21045.50
X 2.31256.70
X3 %1156.60
X 4 T 1384.10

Question ID : 630680849664

Option 11D : 6306803327902
Option 2 ID : 6306803327904
Option 3 ID : 6306803327903
Option 4 1D : 6306803327905
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Q.13 The average weight of 26 students is 68 kg. If one new student is added, the average weight becomes 70 kg. What is the weight of the
new student?

Ans X 1. 88 kg
2 122 kg
X3 T70kg
X 4 94 kg

Question ID : 630680849575

Option 11D : 6306803327547
Option 2 ID : 6306803327549
Option 3 ID : 6306803327546
Option 4 1D : 6306803327548

Q.14 Varun walks at 5 km/hr for 3 hours and runs at 20 knvhr for next 7 hours. What is the average speed of Varun?

Ans X 1. 13.5 km/hr
X 2.14.5 km/hr
3 155 kim'hr
X 4.12.5 km/'hr

Question ID : 630680849574

Option 1 1D : 6306803327543
Option 2 ID : 6306803327544
Option 3 ID : 6306803327545
Option 4 ID : 6306803327542

Q.15 What is the difference between simple interest and compound interest on 15000 for one year at 12% interest per annum
if. for compound interest, interest is compounded half-yearly?

Ans 1. %60
X 2 %48
X 3. 336
o 4 F54

Question ID : 630680834774

Option 11D : 6306803269913
Option 2 ID : 6306803269911
Option 3 ID : 6306803269910
Option 4 ID : 6306803269912
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Q.16 Calculate the sum of the first 50 terms of the following AP: 375 + 345 + 315+ 285+ ........
Ans X' 1. -18400

X 2. -18600
« 3. -18000
X 4. -18200

Question ID : 630680849616

Option 11D : 6306803327712
Option 2 ID : 6306803327713
Option 3 ID : 6306803327710
Option 4 ID : 6306803327711

Q.17 The difference between two twin prime numbers is always equal to
Ans X110

A 2. Number itself

3 2

X4 1

Question ID : 630680849612

Option 11D : 6306803327694
Option 2 ID : 6306803327697
Option 3 1D : 6306803327696
Option 4 1D : 6306803327695

Q.18 Simran visited two shops. Shop A was offering a flat 30% discount on an item. Shop B was offering two successive discounts of 20%
and 10% on the same item. From which shop should Simran buy the item from?

Ans % 1. Both are the same.
« 2. Shop A
X 3. Shop B
X 4. Data insufficient

Question ID : 630680849661

Option 11D : 6306803327892
Option 2 ID : 6306803327890
Option 3 1D : 6306803327891
Option 4 ID : 6306803327893
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Q19 Evaluate:

3T-06+(24-06)=4

Ans
x1. 16
7
x2 !
6
x3 15
4
Y 19
5

Question ID : 630680849629

Option 11D : 6306803327762
Option 2 ID : 6306803327765
Option 3 1D : 6306803327764
Option 4 ID : 6306803327763

Q20 Eyaluate:
0.07+0014=034+1.7+45=2
Ans  X1.090.15
K2 947
< 30432
w4 0]

Question ID : 630680849622

Option 11D : 6306803327734
Option 2 ID : 6306803327737
Option 3 ID : 6306803327736
Option 4 ID : 6306803327735

Section : Arithmetical and Numerical Ability 2

Q.1 Ashokcan do 50% of a work in 15 days, whereas Bob can do 30% of the same work in 18 days. Both works together for 12 days.
Catherine completes the remaining work alone in 12 days. Ashok, Bob and Catherine together will complete 25% of the same work

Ans X 1. 2 days
X 2. 1 day
« 3. 3 days

X 4. 4 days

Question ID : 630680849687

Option 11D : 6306803327995
Option 2 ID : 6306803327994
Option 3 ID : 6306803327996
Option 4 ID : 6306803327997
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Q.2 Inanelection between two candidates Raju and Sakshi, Raju got 55% of the total valid votes. If the total number of valid votes was
6000, the number of valid votes that Sakshi got, was:

Ans 1. 2700
X 23200
X 3. 3000
X 42400

Question ID : 630680849637

Option 11D : 6306803327795
Option 2 ID : 6306803327797
Option 31D : 6306803327796
Option 4 ID : 6306803327794

Q.3  Vivek goes at a speed of 15 km/hr and covers a certain distance in an hour while riding his blue cycle. When he rides his green cycle
he goes at a speed of 12 knv/hr In what time will he cover the same distance?

Ans X' 1. 76 minutes
X 2. 72 minutes
+ 3. 75 minutes
X 4. 74 minutes

Question ID : 630680849688

Option 11D : 6306803328001
Option 2 ID : 6306803327998
Option 3 ID : 6306803328000
Option 4 ID : 6306803327999

Q.4 Aand B can complete a piece of work in 5 days and 8 days respectively. If A and B work on alternative days, how many
days will it take to complete the work (A starts the work)?

Ans

x1.8
9

x 2 19
4
49

o3 —
8

x 4. X0
13

Question ID : 630680834884

Option 11D : 6306803270353
Option 2 ID : 6306803270352
Option 3 ID : 6306803270350
Option 4 ID : 6306803270351
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Q.5 Brass is 14 times as heavy as water and Aluminium is 6 times as heavy as water. In what ratio should these metals be
mixed respectively so that the mixture may be 12 times as heavy as water?

Ans  X'1.5:3
X232
X31:2
4 3.1

Question ID : 630680834876

Option 11D : 6306803270321
Option 2 ID : 6306803270320
Option 3 1D : 6306803270318
Option 4 1D : 6306803270319

Q.6 A sum fetched a total simple interest of ¥ 1376.70 at the rate of interest of 5% per annum in 6 years. What is the sum?

Ans X' 1. 74520
2. 4589
X 3. F 4890
X4 35210

Question ID : 630680849584

Option 11D : 6306803327582
Option 2 ID : 6306803327583
Option 3 ID : 6306803327584
Option 4 1D : 6306803327585

Q.7 Atnin travelling at 72 kmph crosses another train travelling in the same direction at 54 kmph in 48 seconds. What is the combined
length of both the trains?

Ans X 1. 226 m
& 2 240 m
X3 254m
X4 215m

Question ID : 630680849697

Option 11D : 6306803328035
Option 2 ID : 6306803328036
Option 3 ID : 6306803328037
Option 4 ID : 6306803328034

Q.8  Vikram sold a table at a loss of 25%. If he had sold it for ¥ 180 more, he would have made a profit of 20%. The cost price of the table
is:

Ans 1. 2 400
X2 %100
X'3.Z200
X 4% 300

Question ID : 630680849659

Option 11D : 6306803327885
Option 2 ID : 6306803327882
Option 31D : 6306803327883
Option 4 ID : 6306803327884
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Q.9 Ashopkeeper sold a flower pot for Z 3500. If the cost price of the flower pot is ¥ 2800, find the profit percent.
Ans X1 504

X 2 20%

3. 25%

X 4. 30%

Question ID : 630680849651

Option 1 1D : 6306803327850
Option 2 ID : 6306803327851
Option 3 1D : 6306803327852
Option 4 ID : 6306803327853

Q.10 The price of an article is successively increased by 25%.40% and 45% respectively. What is the net percentage increase?

Ans 1 153.75%
X 2 110%
X 3. 135.75%
X 4 75%

Question ID : 630680849649

Option 11D : 6306803327845
Option 2 ID : 6306803327842
Option 3 ID : 6306803327843
Option 4 1D : 6306803327844

Q.11 In an election between two candidates, Raju got 55% of the total valid votes. If the total number of valid votes was
6000, the number of valid votes that Sakshi. the other candidate, got was:

Ans 1. 2700
X 23200
X 33000
X 4. 2400

Question ID : 630680834828

Option 11D : 6306803270127
Option 2 ID : 6306803270129
Option 3 ID : 6306803270128
Option 4 ID : 6306803270126

Q.12 profit obtained by selling a pen-drive for 480 is equal to% of the profit obtained by selling the same pen-drive for
2420. What is the cost price of the pen-drive?

Ans X 1. Z148
« 2. 260
X3 Z198
X 4. 308

Question ID : 630680834858

Option 11D : 6306803270248
Option 2 ID : 6306803270246
Option 3 ID : 6306803270249
Option 4 ID : 6306803270247
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Q.13 The amount of money raised at a fundraiser is directly proportional to the number of people in attendance. If 15 people
attending raised 13500, then how much money will be raised if 120 people are in attendance?

Ans 1. %1,07.000
X 2. 21,06.000
« 3. %1,08,000
X 4. %1,09,000

Question ID : 630680834882

Option 11D : 6306803270343
Option 2 ID : 6306803270342
Option 31D : 6306803270344
Option 4 ID : 6306803270345

Q_1 4 A, B.and C start running simultaneously on a circular track of length 180 meters from the same point with the speeds 4m/s. 6m/s and
9 m/s respectively. A and C are minning in anti-clockwise direction and B is running in a clockwise direction. After how much time
from the start all three will meet for the first time anywhere on the track?

Ans X 1. 18 seconds
X 2. 180 seconds
X 3. 120 seconds
+ 4 36 seconds

Question ID : 630680849691

Option 11D : 6306803328010
Option 2 ID : 6306803328013
Option 3 1D : 6306803328012
Option 4 ID : 6306803328011

Q.15 Sumit in still water has recorded a row speed of 18 kmvh. The time taken by him to row a certain distance upstream is 5 times the
time to go the same distance downstream. What is the rate of this stream?

Ans o 1 R kmv/hr
2. 12 km/hr
X 3. 10 kmv/'hr
X 4 6 km/hr

Question ID : 630680849695

Option 11D : 6306803328027
Option 2 ID : 6306803328029
Option 3 ID : 6306803328028
Option 4 ID : 6306803328026
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Q.16 A sum of money at simple interest amounts to ¥ 600 in 4 years and to ¥ 700 in 5 years. The sum is:
Ans 1. 2200

X2 Z100

X 3. F 400

X4 F 300

Question ID : 630680849580

Option 11D : 6306803327567
Option 2 ID : 6306803327566
Option 3 ID : 6306803327569
Option 4 ID : 6306803327568

Q17 Find the mean proportional of 8 and 9.

Ans vl ‘Vrﬁ
X2 62

X VT2
X4 8

Question ID : 630680849669

Option 1 1D : 6306803327925
Option 2 ID : 6306803327924
Option 3 1D : 6306803327922
Option 4 ID : 6306803327923

Q.18 Two successive increases of 30% each is (approximately) by what percent more than the two successive decrease of 30% each?

Ans X' 1. 3R04
+ 2. 35%
X 3 30%
X4 41%

Question ID : 630680849650

Option 11D : 6306803327848
Option 2 ID : 6306803327847
Option 31D : 6306803327846
Option 4 ID : 6306803327849

Q.19 Ramesh earns an average of Rs. ¥ 3200 per week during a 40 hours week. He increases his rates in final week of the month by 75%.
Find the commission he earns in that weel, if he puts in 50 hours during that final week?

Ans 1. 27000
X 2.3 5000
X 3.3 7500
X 4 Z 2500

Question ID : 630680849640

Option 11D : 6306803327808
Option 2 ID : 6306803327807
Option 3 ID : 6306803327809
Option 4 1D : 6306803327806
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Q.20 The ratio of the first and the second-class fares between two stations is 12 : 5 and the ratio of the numbers of passengers

traveling by first and second-classes is 2 : 39. If 321900 is collected as total fare. what is the amount collected from first
class passengers?

Ans 1. 32300
X 2. 32200
o 3. 22400
X 4. 32100

Question ID : 630680834875

Option 11D : 6306803270316
Option 2 ID : 6306803270315
Option 31D : 6306803270317
Option 4 ID : 6306803270314

Section : Test of English Language and Comprehension 1

Q.1 What is the term for a person who lives in seclusion?
Ans X 1. Hermit

X 2. Ascetic
< 3. Gourmand
«” 4. Recluse

Question ID : 630680852728

Option 11D : 6306803339885
Option 2 1D : 6306803339886
Option 3 1D : 6306803339884
Option 4 1D : 6306803339887

Q.2 Choose the correct preposition to complete the sentence:
The keys were hidden the vase.

Ans X 1.above
X 2.0on
" 3.in
X 4. through

Question ID : 630680852686

Option 11D : 6306803339718
Option 2 ID : 6306803339717
Option 3 1D : 6306803339716
Option 4 ID : 6306803339719



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Google Play

Q.3 What is the term for a person who believes that war and violence are unjustifiable?
Ans X 1.Jingoist

X 2. Pessimist
" 3. Pacifist
75 4. Militant

Question ID : 630680852725

Option 11D : 6306803339874
Option 2 ID : 6306803339875
Option 31D : 6306803339872
Option 4 ID : 6306803339873

Q.4 Choose the correct article to complete the sentence:
She always wears red dress to parties.

Ans X 1.none

X 2.an
" 3.the

X 4.a

Question ID : 630680852675

Option 11D : 6306803339675
Option 2 ID : 6306803339673
Option 3 1D : 6306803339674
Option 4 1D : 6306803339672

Q.5 Choose the sentence with the appropriate verb form:
Ans X 1.Heis finished his homework

#< 2. He had finished his homework already.
+" 3. He has finished his homework already.

75 4. He have finished his homework already.

Question ID : 630680852708

Option 11D : 6306803339807
Option 2 ID : 6306803339806
Option 31D : 6306803339805
Option 4 ID : 6306803339804

Q.6 Identify the correct form of the adjective:
She is the person | know.

Ans 4 1.nicest

X 2. nice
X 3. nicer

X 4. nicely

Question ID : 630680852698

Option 11D : 6306803339766
Option 2 ID : 6306803339764
Option 3 1D : 6306803339765
Option 4 1D : 6306803339767
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Q.7 Select the sentence with the correct use of the adverb:

Ans  # 1. He speaks so quietly that no one can hear him.
X 2. He speaks so quiet than no one can hear him.
25 3. He speaks so quiet that no one can hear him.

X 4. He speaks so quietly than no one can hear him.

Question ID : 630680852701
Option 11D : 6306803339778
Option 2 ID : 6306803339779
Option 31D : 6306803339777
Option 4 ID : 6306803339776
Q.8 Select the most appropriate word for the given phrase.
Collective noun for Bees.
Ans X 1.House
25 2. School
& 3. Swarm
X 4. Army
Question ID : 630680835173
Option 11D : 6306803271507
Option 2 ID : 6306803271509
Option 31D : 6306803271508
Option 4 ID : 6306803271506
Q.9 The sentences given below are all part of a paragraph but do not necessarily fall in the order
that they are in. The first and the last sentences of the paragraph are given. Choose the
option that arranges these sentences to form a meaningful paragraph.
Although the tiger had passed the prime of his life, he had lost none of his majesty.
A. long grass with the confidence of one who knew that he was still a king, although his
B. His muscles rippled beneath the golden yellow of his coat, and he walked through the
C. swinging high, that sometimes showed above the sea of grass.
D. subjects were fewer. His great head pushed through the foliage, and it was only his tail,
He was heading for water, the water of a large marsh.
Ans X 1.ADBC
«” 2. BADC
< 3.CBDA
X 4.DBCA
Question ID : 630680835172
Option 11D : 6306803271505
Option 2 ID : 6306803271504
Option 3 ID : 6306803271503
Option 4 ID : 6306803271502
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Q.10 Choose the correct indefinite articles to complete the sentence:
Can you pick up loaf of bread from the store?

Ans X 1.an
o 2.a

X 3.the
X 4.none

Question ID : 630680852676

Option 11D : 6306803339678
Option 2 1D : 6306803339676
Option 3 1D : 6306803339677
Option 4 ID : 6306803339679

Q.11 Idiom: "Under the weather."
What does the idiom "Under the weather' mean?

Ans  # 1.To be physically ill or indisposed
X 2. To feel energetic
X 3.To go on a vacation

X 4. To enjoy sunny weather

Question ID : 630680852737

Option 11D : 6306803339920
Option 2 ID : 6306803339922
Option 3 1D : 6306803339923
Option 4 ID : 6306803339921

Q.12 Fill in the blank with the most appropriate option.
Squirrels are rare in Mussoorie common enough down in the valley.

Ans X 1.or
X 2.and
& 3.though
X 4. nor

Question ID : 630680835137

Option 11D : 6306803271365
Option 2 ID : 6306803271362
Option 31D : 6306803271363
Option 4 ID : 6306803271364

Q.13 Choose the correct adverb to complete the sentence:
He works than his colleagues.

Ans X 1. hard

«" 2. harder
/< 3.none
X 4. hardly

Question ID : 630680852683

Option 11D : 6306803339705
Option 2 ID : 6306803339704
Option 3 1D : 6306803339707
Option 4 1D : 6306803339706
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Q.14 ldentify the sentence with the correct usage of conjunction:
She had no money; she couldn't buy the dress.

Ans X 1. She had no money; however, she couldn't buy the dress.
#5 2. She had no money, either she could buy the dress.
Z5 3. She had no money; consequently she couldn't buy the dress.

" 4. She had no money, therefore she couldn't buy the dress.

Question ID : 630680852705

Option 11D : 6306803339792
Option 2 ID : 6306803339793
Option 3 1D : 6306803339795
Option 4 1D : 6306803339794

Q.15 lIdentify the sentence where "although" is correctly used.

Ans X 1. Although it rained heavily, so we still went for a walk.
25 2. It rained heavily although, we still went for a walk.
/X 3. Although it rained heavily, but we still went for a walk.

" 4. Although it rained heavily, we still went for a walk.

Question ID : 630680852706

Option 11D : 6306803339799
Option 2 ID : 6306803339798
Option 3 ID : 6306803339796
Option 4 1D : 6306803339797

Q.16 Select the most appropriate word for the given phrase.
Collective noun for Directors.

Ans X 1.Conference
/< 2.Bench
«" 3. Board
25 4. Troupe

Question ID : 630680835177

Option 11D : 6306803271522
Option 2 ID : 6306803271524
Option 3 1D : 6306803271523
Option 4 ID : 6306803271525

Q.17 Choose the correct indefinite articles to complete the sentence:
He wants to buy house in the countryside.

Ans X 1.none
X 2.an
o 3.a
X 4. the

Question ID : 630680852677

Option 11D : 6306803339683
Option 2 ID : 6306803339682
Option 3 ID : 6306803339681
Option 4 1D : 6306803339680
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Q.18 Arrange the following sentences to form a coherent paragraph about the dynamics of the
stock market:
A) Moreover, factors such as economic indicators, geopolitical events, and investor
sentiment also influence stock prices.
B) Understanding market trends and conducting thorough research are essential for making
informed investment decisions.
C) The stock market is characterized by volatility, with prices fluctuating based on supply
and demand dynamics.
D) Additionally, various financial instruments such as stocks, bonds, and derivatives are
traded on stock exchanges.
Ans X 1.D,B,C,A
X 2.C,DAB
X 3.A,C,B,D
" 4.B,C,A D
Question ID : 630680852713
Option 11D : 6306803339826
Option 2 ID : 6306803339824
Option 3 ID : 6306803339827
Option 4 ID : 6306803339825
Q.19 Sarah wanted to become astronaut when she grew up.
Choose the correct indefinite article from the options given below:
Ans X 1.none
X 2.the
X 3.a
& 4.an
Question ID : 630680852697
Option 11D : 6306803339763
Option 2 ID : 6306803339761
Option 31D : 6306803339762
Option 4 ID : 6306803339760
Q.20 Choose the sentence with the correct usage of indéfinite article
Ans X 1. She saw unicorn.
¥ 2. She saw aunicorn.
#< 3. She saw some unicorn.
5 4. She saw the unicorn.
Question ID : 630680852695
Option 1 1D : 6306803339753
Option 2 ID : 6306803339752
Option 3 ID : 6306803339755
Option 4 ID : 6306803339754
Section : Test of English Language and Comprehension 2
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Q.1 From the given option, select the correct proverb which matches in meaning to the sentence
given below.
After trying all reliable medicines, he is now visiting quacks to get a cure for his baldness.
Ans X 1.If you can’t beat them, join them.
& 2. A drowning man will clutch at a straw.
25 3. If you play with fire, you'll get burned.
/5 4. 1f you buy cheaply, you pay dearly.
Question ID : 630680835194
Option 11D : 6306803271591
Option 2 ID : 6306803271593
Option 31D : 6306803271592
Option 4 ID : 6306803271590
Q.2 Find the misspelled word in the sentence:
"Their friendship was uncomparable.’
Ans X 1.none
75 2. Their
" 3. Uncomparable
75 4. Friendship
Question ID : 630680852765
Option 1 1D : 6306803340035
Option 2 ID : 6306803340034
Option 3 ID : 6306803340033
Option 4 ID : 6306803340032
Q.3 Proverb: "A watched pot never boils."
What does the proverb "A watched pot never boils" mean?
Ans X 1. Patience is a virtue.
" 2. Time seems to pass slowly when one is waiting for something to happen.
X 3. A person should focus on their own affairs rather than others'.
X 4. Constantly monitoring a situation can prevent problems.
Question ID : 630680852743
Option 1 1D : 6306803339944
Option 2 ID : 6306803339945
Option 31D : 6306803339947
Option 4 ID : 6306803339946
Q.4 Select the most appropriate synonym of the given word.
Afflict
Ans  4# 1. Beset
< 2. Determine
< 3. Solace
/X 4. Soothe
Question ID : 630680835210
Option 11D : 6306803271657
Option 2 ID : 6306803271654
Option 31D : 6306803271656
Option 4 ID : 6306803271655
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Q.5 What is the meaning of "ubiquitous” in the sentence "Smartphones have become ubiquitous
in modern society"?

Ans X 1.Rare
«” 2. Present everywhere
#< 3. Easily broken
X 4. Inaccessible

Question ID : 630680852755

Option 11D : 6306803339992
Option 2 ID : 6306803339994
Option 3 ID : 6306803339993
Option 4 ID : 6306803339995

Q.6 Which homonym is appropriate for the sentence: "She played the
school play"?

Ans X 1.Rowl

of Juliet in the

< 2.Role
< 3.Roll
«" 4.Role
Question ID : 630680852756
Option 1 1D : 6306803339999
Option 2 ID : 6306803339998
Option 3 ID : 6306803339997
Option 4 ID : 6306803339996
Q.7 Select the appropriate homonym for the sentence: "She saw a beautiful in the garden.’
Ans X 1.Sew
X 2.Seo
«" 3. Sow
X 4. Soe
Question ID : 630680852761
Option 11D : 6306803340016
Option 2 ID : 6306803340019
Option 3 ID : 6306803340017
Option 4 ID : 6306803340018
Q.8 Which homonym is appropriate for the sentence: "The dog wagged its _____ excitedly"?
Ans X 1.Tael
& 2. Tail
X 3.Tale
X 4. Taile

Question ID : 630680852757

Option 11D : 6306803340003
Option 2 ID : 6306803340000
Option 3 ID : 6306803340001
Option 4 1D : 6306803340002
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Q.9 Four words are given, out of which only one word is spelt correctly. Choose the correctly
spelt word.

Ans o 1. IMITATE
X 2. SEPERATE
X 3. DESPARATE

75 4. MISOGINY

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680835229

6306803271731
6306803271733
6306803271730
6306803271732

Q.10 Proverb: "Curiosity killed the cat."
What is the one word substitution for excessive desire to know about other people's affairs?

Ans 1. Meddlesome

#< 2. Disinterested

X 3. Inquisitive
X 4. Prurient
Question ID : 630680852734
Option 11D : 6306803339910
Option 2 ID : 6306803339911
Option 3 ID : 6306803339909
Option 4 ID : 6306803339908
Comprehension:
Fill in the blanks in the given passage:
Climate change is a significant global challenge that (1) consequences for the
environment, economies, and societies worldwide. It is caused primarily by human activities
such as the burning of fossil fuels, deforestation, and (2) _____ emissions from industries. The
(3) ___ of climate change are already being felt, with rising temperatures, extreme weather
events, and melting ice caps. These changes (4)_____ serious implications for biodiversity,
food security, and human health. To mitigate these impacts, it is crucial for governments,
businesses, and individuals to adopt (5) sustainable practices and strengthen global
cooperation on environmental policies.
SubQuestion No : 11
Q.11 Choose the correct option for Blank 2:
Ans X 1.greenhouse's
< 2. greenhouses
#< 3. green house
& 4. greenhouse
Question ID : 630680852630
Option 11D : 6306803339499
Option 2 ID : 6306803339497
Option 3 ID : 6306803339498
Option 4 ID : 6306803339496
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Comprehension:
Fill in the blanks in the given passage:

Climate change is a significant global challenge that (1) consequences for the
environment, economies, and societies worldwide. It is caused primarily by human activities
such as the burning of fossil fuels, deforestation, and (2) emissions from industries. The
(3) ___ of climate change are already being felt, with rising temperatures, extreme weather
events, and melting ice caps. These changes (4)_____ serious implications for biodiversity,
food security, and human health. To mitigate these impacts, it is crucial for governments,
businesses, and individuals to adopt (5) sustainable practices and strengthen global
cooperation on environmental policies.

SubQuestion No : 12
Q.12 Choose the correct option for Blank 1:
Ans  # 1. has

X 2. have
X 3.is
X 4. are

Question ID : 630680852629

Option 11D : 6306803339492
Option 2 ID : 6306803339493
Option 3 ID : 6306803339494
Option 4 1D : 6306803339495

Comprehension:
Fill in the blanks in the given passage:

Climate change is a significant global challenge that (1) consequences for the
environment, economies, and societies worldwide. It is caused primarily by human activities
such as the burning of fossil fuels, deforestation, and (2) _____ emissions from industries. The
(3) ___ of climate change are already being felt, with rising temperatures, extreme weather
events, and melting ice caps. These changes (4) serious implications for biodiversity,
food security, and human health. To mitigate these impacts, it is crucial for governments,
businesses, and individuals to adopt (5) sustainable practices and strengthen global
cooperation on environmental policies.

SubQuestion No : 13
Q.13 Choose the correct option for Blank 3:
Ans X 1.affect

X 2. affects
" 3. effects
X 4. effect's

Question ID : 630680852631

Option 1 ID : 6306803339502
Option 2 ID : 6306803339501
Option 31D : 6306803339500
Option 4 ID : 6306803339503
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Comprehension:

Fill in the blanks in the given passage:

Climate change is a significant global challenge that (1) ____ consequences for the
environment, economies, and societies worldwide. It is caused primarily by human activities
such as the burning of fossil fuels, deforestation, and (2) ____ emissions from industries. The
(3) ___ of climate change are already being felt, with rising temperatures, extreme weather
events, and melting ice caps. These changes (4)_____ serious implications for biodiversity,
food security, and human health. To mitigate these impacts, it is crucial for governments,
businesses, and individuals to adopt (5) sustainable practices and strengthen global
cooperation on environmental policies.

SubQuestion No : 14

Q.14 Choose the correct option for Blank 4:
Ans X 1.having
" 2. have
X 3. had
X 4. has
Question ID : 630680852632
Option 11D : 6306803339506
Option 2 ID : 6306803339504
Option 31D : 6306803339507
Option 4 ID : 6306803339505
Comprehension:
Fill in the blanks in the given passage:
Climate change is a significant global challenge that (1) consequences for the
environment, economies, and societies worldwide. It is caused primarily by human activities
such as the burning of fossil fuels, deforestation, and (2) _____ emissions from industries. The
(3) ___ of climate change are already being felt, with rising temperatures, extreme weather
events, and melting ice caps. These changes (4) serious implications for biodiversity,
food security, and human health. To mitigate these impacts, it is crucial for governments,
businesses, and individuals to adopt (5) sustainable practices and strengthen global
cooperation on environmental policies.
SubQuestion No : 15
Q.15 Choose the correct option for Blank 5:
Ans  # 1. more
X 2.much
X 3. extra
X 4. new
Question ID : 630680852633
Option 11D : 6306803339508
Option 2 ID : 6306803339509
Option 31D : 6306803339510
Option 4 ID : 6306803339511
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Comprehension:

Read the passage carefully and answer the questions given below:

Social media, a double-edged sword, ignites debates over its role as a boon or a bane in
contemporary society. On one hand, it serves as a powerful tool for connectivity, enabling
individuals to forge relationships, share experiences, and mobilize for social causes.
Platforms like Facebook, Twitter, and Instagram facilitate communication on a global scale,
breaking down geographical barriers and fostering a sense of belonging.

However, the flip side reveals a darker narrative. Social media's addictive nature can lead to
detrimental effects on mental health, with excessive usage linked to anxiety, depression, and
social isolation. Moreover, the spread of misinformation and fake news poses significant
challenges to societal discourse, blurring the lines between truth and falsehood.

In essence, whether social media is a boon or a curse depends on its usage. When wielded
responsibly, it can enhance connectivity and empower communities. Yet, unchecked
consumption can sow seeds of discord and disillusionment. Thus, the true impact of social
media lies in our ability to harness its potential for the greater good while mitigating its
adverse effects.

SubQuestion No : 16
Q.16 What are some examples of social media platforms mentioned in the passage?
Ans X 1. LinkedIn and Snapchat

/< 2. WhatsApp and TikTok
X 3. Pinterest and Reddit

«# 4. Facebook, Twitter, and Instagram

Question ID : 630680852776

Option 1 1D : 6306803340068
Option 2 ID : 6306803340070
Option 3 ID : 6306803340071
Option 4 ID : 6306803340069
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Comprehension:
Read the passage carefully and answer the questions given below:

Social media, a double-edged sword, ignites debates over its role as a boon or a bane in
contemporary society. On one hand, it serves as a powerful tool for connectivity, enabling
individuals to forge relationships, share experiences, and mobilize for social causes.
Platforms like Facebook, Twitter, and Instagram facilitate communication on a global scale,
breaking down geographical barriers and fostering a sense of belonging.

However, the flip side reveals a darker narrative. Social media's addictive nature can lead to
detrimental effects on mental health, with excessive usage linked to anxiety, depression, and
social isolation. Moreover, the spread of misinformation and fake news poses significant
challenges to societal discourse, blurring the lines between truth and falsehood.

In essence, whether social media is a boon or a curse depends on its usage. When wielded
responsibly, it can enhance connectivity and empower communities. Yet, unchecked
consumption can sow seeds of discord and disillusionment. Thus, the true impact of social
media lies in our ability to harness its potential for the greater good while mitigating its
adverse effects.

SubQuestion No : 17
Q.17 Which sentence demonstrates the correct usage of "mitigating"?
Ans " 1. The company attempted to mitigate its losses by cutting costs.

#5 2. The government's actions only exacerbated the problem instead of mitigating it.
Z5 3. He mitigated the situation by escalating the conflict.

X 4. She attempted to mitigate her fears by facing them head-on.

Question ID : 630680852779

Option 1 1D : 6306803340080
Option 2 ID : 6306803340082
Option 3 ID : 6306803340081
Option 4 ID : 6306803340083
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Comprehension:
Read the passage carefully and answer the questions given below:

Social media, a double-edged sword, ignites debates over its role as a boon or a bane in
contemporary society. On one hand, it serves as a powerful tool for connectivity, enabling
individuals to forge relationships, share experiences, and mobilize for social causes.
Platforms like Facebook, Twitter, and Instagram facilitate communication on a global scale,
breaking down geographical barriers and fostering a sense of belonging.

However, the flip side reveals a darker narrative. Social media's addictive nature can lead to
detrimental effects on mental health, with excessive usage linked to anxiety, depression, and
social isolation. Moreover, the spread of misinformation and fake news poses significant
challenges to societal discourse, blurring the lines between truth and falsehood.

In essence, whether social media is a boon or a curse depends on its usage. When wielded
responsibly, it can enhance connectivity and empower communities. Yet, unchecked
consumption can sow seeds of discord and disillusionment. Thus, the true impact of social
media lies in our ability to harness its potential for the greater good while mitigating its
adverse effects.
SubQuestion No : 18

Q.18 What is a synonym for "connectivity" as used in the passage?

Ans X 1. Alienation
/5 2. Isolation
«" 3. Interconnectedness

25 4. Disconnection

Question ID : 630680852780

Option 11D : 6306803340085
Option 2 ID : 6306803340084
Option 3 ID : 6306803340086
Option 4 1D : 6306803340087
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Comprehension:
Read the passage carefully and answer the questions given below:

Social media, a double-edged sword, ignites debates over its role as a boon or a bane in
contemporary society. On one hand, it serves as a powerful tool for connectivity, enabling
individuals to forge relationships, share experiences, and mobilize for social causes.
Platforms like Facebook, Twitter, and Instagram facilitate communication on a global scale,
breaking down geographical barriers and fostering a sense of belonging.

However, the flip side reveals a darker narrative. Social media's addictive nature can lead to
detrimental effects on mental health, with excessive usage linked to anxiety, depression, and
social isolation. Moreover, the spread of misinformation and fake news poses significant
challenges to societal discourse, blurring the lines between truth and falsehood.

In essence, whether social media is a boon or a curse depends on its usage. When wielded
responsibly, it can enhance connectivity and empower communities. Yet, unchecked
consumption can sow seeds of discord and disillusionment. Thus, the true impact of social
media lies in our ability to harness its potential for the greater good while mitigating its
adverse effects.

SubQuestion No : 19
Q.19 How does the passage suggest that social media affects mental health?
Ans X 1. By promoting positivity and emotional well-being

«" 2. By contributing to anxiety, depression, and social isolation
#5 3. By alleviating stress and loneliness through virtual connections

< 4. By encouraging face-to-face interactions and socialization

Question ID : 630680852777

Option 1 1D : 6306803340072
Option 2 ID : 6306803340074
Option 31D : 6306803340075
Option 4 ID : 6306803340073
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Comprehension:
Read the passage carefully and answer the questions given below:

Social media, a double-edged sword, ignites debates over its role as a boon or a bane in
contemporary society. On one hand, it serves as a powerful tool for connectivity, enabling
individuals to forge relationships, share experiences, and mobilize for social causes.
Platforms like Facebook, Twitter, and Instagram facilitate communication on a global scale,
breaking down geographical barriers and fostering a sense of belonging.

However, the flip side reveals a darker narrative. Social media's addictive nature can lead to
detrimental effects on mental health, with excessive usage linked to anxiety, depression, and
social isolation. Moreover, the spread of misinformation and fake news poses significant
challenges to societal discourse, blurring the lines between truth and falsehood.

In essence, whether social media is a boon or a curse depends on its usage. When wielded
responsibly, it can enhance connectivity and empower communities. Yet, unchecked
consumption can sow seeds of discord and disillusionment. Thus, the true impact of social
media lies in our ability to harness its potential for the greater good while mitigating its
adverse effects.

SubQuestion No : 20
Q.20 What is the antonym of "enhance" as used in the passage?
Ans 4 1.Diminish

75 2. Augment
X 3. Improve
X 4. Strengthen

Question ID : 630680852778

Option 11D : 6306803340076
Option 2 ID : 6306803340079
Option 31D : 6306803340078
Option 4 ID : 6306803340077

Section : Test of Hindi Language and Comprehension 1

Q.1 Frafafla area §, 59 areiv & ugaifg ol oo agfeal #) ot @1 madt 78 & @t 'ad

R 7 & @ g RS
U gR ford Ageayuf dufa &t avg gia &/ ot A & wera W T=1d &, WR Iuerey o 2,/ S @
iehs ded 3Mfe SueTs hera &1

Ans X 1. g @ vives 9@ enfe Iuerey ahd § |
X 2. s gAR ford Agayul Hufx &l =g gid &
X 3@ Ee
o 4. ST TS & g R 9T §, BR IR T &

Question ID : 630680850241

Option 11D : 6306803330155
Option 2 ID : 6306803330153
Option 31D : 6306803330156
Option 4 1D : 6306803330154
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Q.2 fA=fafad st d, 9 fepreal & 4, 39 faerea o1 aa9 &1 i & 7 Fenif<s @1 9t oref arer
faereT 81
Sit o 9 U, it 9id |9t @l

Ans X 1.9 dl e d e A g g g
X 2. i GOR F srdhert g1, S g T8
o 3. it URer o & S/ AT gl &
X 4. Mk 3 g A & A Sih 7Y 8 s

Question ID : 630680836451

Option 11D : 6306803276547
Option 2 ID : 6306803276549
Option 3 ID : 6306803276548
Option 4 ID : 6306803276546

Q.3 fA=fafad usr &, aR fael & @, 39 A &1 aa= &R st & 7 Sinifth o Tt ordf aren
faerea 21
grft fRrener T, gw 3@

Ans o 1. TS9O AW BT
X 2. fqufty wR foof smem
X 3. 3ifdes ya
X 4. Smoeft ge

Question ID : 630680850313

Option 11D : 6306803330426
Option 2 ID : 6306803330427
Option 3 ID : 6306803330428
Option 4 ID : 6306803330425

Q.4 fr=faf@d s d, TR el & @, 39 frehed o1 =g & Sit &1 TS cAlehlfh 1 Tt o1ef aren
faerea 21
ST Hg a9 aHTEn

Ans X 1.7 327 BF 3T R ST BT AT A1MeY
75 2. S8l &1 gt gl ahl ATl o SR STTERUT el A1igy
X 3. St S moTgd 37, 3T € I9hT S ghI
o 4. ST SMTEHT EiAT § 99T B 39 AT AIER ol SiTdT §

Question ID : 630680836445

Option 11D : 6306803276523
Option 2 ID : 6306803276522
Option 3 ID : 6306803276525
Option 4 ID : 6306803276524
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Q.5 fA=faf@a uy &, ar Rl 7 9, 39 9 fase w1 9g+7 = st Re 71y sigsde & g sifaw
aTerd <hT Tgt faranea gt

STTST & Y wra | & afgpft aeaar @ s genfaa gg &1 fR= sime a1 Age g g
<1 3gT 2| @) Raw it &) 39 o1t @ ot =@ar @1 |

Ans X 1. 09 &2 IR g Sit oS ot fageft depfal at a1 7 ST T | 719 Ag gy ad 8l
X 2. 0 A3 R § S ot oft R Tepfar Bt A ST e # 1T Hegy v B
o 3. 08 &g R & it oot off RN Tepfa ant a1g T # T ey v §
X 4. T e oft IR 78 & St o oft st Teepfal Rt s wae H 1T Aegd R §

Question ID : 630680836359

Option 11D : 6306803276197
Option 2 ID : 6306803276195
Option 31D : 6306803276196
Option 4 ID : 6306803276194

Q.6 f=fafEa el 7 @ 9 a1 fRrea ga g arga a9 & fArg aramien &t ag s d
AT har 2?
A- aemer H 218t &1 1 F wa @

B- Sftet aru= = # aga gqfka g @ safag
C- foram=t el yat Gar o eiik
D- urfior e T AgaR AR & SrawR] i

Ans X 1.DABC
X 2.BDAC
& 3. CBDA
X 4.CDAB

Question ID : 630680850254

Option 11D : 6306803330205
Option 2 ID : 6306803330207
Option 31D : 6306803330208
Option 4 ID : 6306803330206

Q.7 f=fafEa el 7 @ 4 a1 fRheu ga e arga a9 & fAg aremien &t ad s d
AT T 8?
A- ShTH TR AT chigd e Hehdt @
B- dITdl AT ¥ @I & 3R 31T 3ru=
C- 3RTH &3 § Hee hedl g fTeht adaea
D- a7 31Uk SRR &t 2Aid A 3R

Ans X 1.ACBD
2 2. ABCD
& 3. DCBA
X 4.DACB

Question ID : 630680850251

Option 11D : 6306803330195
Option 2 ID : 6306803330194
Option 3 1D : 6306803330193
Option 4 ID : 6306803330196
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Q.8 f=afafad vy 8, aR Reeul 7 9, 39 feea o1 9g7 &R it & 71 ggrear &1 9gl sref arer e
gl

el T 9T I

Ans X 1.3R TR AT
X 2. BT @l
X 3.9 & e g
o 4. ATl St

Question ID : 630680850306

Option 11D : 6306803330398
Option 2 ID : 6306803330397
Option 3 1D : 6306803330399
Option 4 1D : 6306803330400

Q.9 f=afafad uw #, IR faereul & @, 39 & faerea o1 =a= R i R @F & fog T oromefs
forar a1 freReT g
R RAarsht g9 1 wsal @ aaR fhae 8l

Ans o 1. Ugard
X 2u
& 3.uerg
X 4.ud

Question ID : 630680850289

Option 11D : 6306803330329
Option 2 ID : 6306803330332
Option 3 ID : 6306803330330
Option 4 ID : 6306803330331

Q.10 f=faf@a us ), ar Reeul d |, 39 98 Rereu o1 ag= w2 Wit g 70 ergede & fAg sifaw
aTerT <hT Tgt farenea gt
= wrforal & fog fora= srmasaer €, & 9oft ) uar 21 et oft man & o6 a9 € Sfa= @1 3= ausm
& arasyg ot Rer-ufafem a=i Y siendy werd gidt 81 I

Ans X 1.7g guwr fea-ufafe st 0 yroT St 51 8 81
X 2. 75 gaw fem-ufafe &m gt 5 <8t 81
X 3. gg guw feA-ufafes ®ter = eRor el ST 6t gl
F 4. T8 99RT ReF-ufafe foemereT ¥ 9T et ST 261 8

Question ID : 630680850237

Option 11D : 6306803330139
Option 2 ID : 6306803330137
Option 3 ID : 6306803330138
Option 4 ID : 6306803330140
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Q.11 FR=faf@a usr &, aR faereal 3 @, 39 T RAereq o1 o= R St R = & T 9t RS ereg
o1 farerea &1l
TR FTARTHFE R ______ frarmam

Ans X 1.3
X 2.4
o 3.5
X 4.

Question ID : 630680850288

Option 1 1D : 6306803330325
Option 2 ID : 6306803330326
Option 31D : 6306803330328
Option 4 ID : 6306803330327

Q.12 fFAAfef@d area #, 39 areier &t ugaiAy oo $o gt &1 afy & wedt 78 & at '+
A 7E & &1 g A
Y@ I FHRUT AT g5 ek g 9+t ot 71/ & 9k a8 Sarerar Stet dareEt ok R-uafawor
31/ A Tfafafdat ot gruahT @ ufoms &1

Ans X 1. @1 A HRUT A1 5 dh gH T}t I
X 2.8 R g TR ST dureE! SR R-uaferor sigge
o 3. Fra fafafdat ol gruT @ ufom &1
X 4R @R

Question ID : 630680850244

Option 11D : 6306803330165
Option 2 ID : 6306803330166
Option 3 1D : 6306803330167
Option 4 ID : 6306803330168

Q.13 fA=fafaa usr &, aR el & @, 39 fAerea o1 au= &R St Ry g are & werd ad= arer
faerea 81

Tiel & TR SR & ST AUT =T el o oIFT, WTd:hI Y 2fiaet 75 G AR iR ugg-ufarai &
fafay wu TR AafREt & fog gef awqu &1

Ans X 1.3d%
o 2. ety
X 3. urdeRre

X 4.gTy

Question ID : 630680850323

Option 11D : 6306803330466
Option 2 ID : 6306803330468
Option 31D : 6306803330465
Option 4 ID : 6306803330467
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Q.14 fA=fafaa usr &, aR el 3 @, 39 T RAereq 1 g+ R &t R = & A g
gReroraraes faivor ereg &1 e gl

foasi g fFuam RN raa s fog___ gafa i
Ans X 1.98
o 2. 53
X 3. d

X o499

Question ID : 630680850299

Option 11D : 6306803330371
Option 2 ID : 6306803330372
Option 3 ID : 6306803330370
Option 4 ID : 6306803330369

Q.15 fFAfef@d arera &, 39 areier &t ugafAy e go i@l &1 afy & merdt 7 & at '+
IR 7 & =1 g AfSig
QT VI STg1 1S U 76 ¢ agi il gar # & g/ FeTenal AT STaIfeh 3 v ST d gaif w forer
g T/ Tefera &9 @ Sftdd ofik A araes e g1

Ans X 1. @EFRTEE
o 2. SICTehd T STaIfeh 3k o ST | gail wR fERT gon wIe
X 3. Warferd 9 & Sfda ok g+ arres fezgar g
X 4. 1 @ STl hig U el ¢ gl i gat A gl g@

Question ID : 630680850245

Option 11D : 6306803330172
Option 2 ID : 6306803330170
Option 3 ID : 6306803330171
Option 4 1D : 6306803330169

Q.16 fA=fafEd us &, 9r fAeaeul A @, 39 Tt ey o1 999 R St R<p ®IF & AU 98 ke =
o1 faere gl
hel AR UGT &h AR _____ Tk UTetehl Tl

Ans o 1. T
X 2. @
X 3.gm
X4

Question ID : 630680850287

Option 11D : 6306803330323
Option 2 ID : 6306803330324
Option 3 ID : 6306803330321
Option 4 1D : 6306803330322
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Q.17 fA=fafEa us #, ar Rereat d , 39 T fRered o1 979 o St R<s ®IF & A0 98 ke 2
o1 fareheT gl

g iR Wiga A MAE hech STl s
Ans X 1.9
X 2w
X 3.9
o 4. @

Question ID : 630680836415

Option 11D : 6306803276402
Option 2 ID : 6306803276403
Option 3 ID : 6306803276404
Option 4 ID : 6306803276405

Q.18 fA=faf@d us d, ar fereal & |, 39 RAsea &1 aa= o St & 71E qgrer o1 |t oref e Reea
gl
Heret UR |9 et

Ans X 1. ®AESIR gHAT
X 2. T
o 3. =i g
X 4. 79 F WG g

Question ID : 630680850304

Option 11D : 6306803330392
Option 2 ID : 6306803330389
Option 3 ID : 6306803330390
Option 4 ID : 6306803330391

Q.19 F=fefad are #, 39 areisr &) ugmfAy e $o sixifgat & aft wiE mereh a8t & at 'wiE
R 7 & @ g RS
&g IR a1 # S 1 ol 1y uTar & TehdT &/ STl S IR 39 UR gU1 A i Ul STET &
s 39 &1/ # g+ aret @l & Shiae UR Qeh SRT UNTd uSdt gl

Ans o 1. S IR TG H H© [l ol g UTAT & Fehal &
X 2. 5 g aret Sl & St R Ueh g1 U919 IS &
X 3w AR e
X 4. Safh E IR 39 R g1 § g uTa 11T & ey 39 &5

Question ID : 630680850246

Option 11D : 6306803330173
Option 2 1D : 6306803330175
Option 31D : 6306803330176
Option 4 1D : 6306803330174
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Q.20 fA=fafEd w8, 9R el 7 |, 39 e &1 wg= &2 it Ry 1¢ araa & wed ad=t aren
frerea 1

3T & IR THTST R gfR =1el &t 79 & adf fARran ofik gea g ereht & aiifes ot faf= sk
faieranszft foafar & garR gurer i

Ans X 1.fafex
o 2. TaR¥eremeft

K33
X 4. s

Question ID : 630680850319

Option 1 1D : 6306803330452
Option 2 ID : 6306803330450
Option 3 ID : 6306803330451
Option 4 ID : 6306803330449

Section : Test of Hindi Language and Comprehension 2

Q.1 fA=afeafad us &, aR fawet & /@, 39 fawen &1 aa= &R it Ry 71 are & maa ad= aren
faenea &1

1R Fi fre g wiRiiores warial ofk 9 & sEME et g€ 5 9l & Areaa @ arnfSes
3R TeTifaes sewuT iR off @ Fedt g1

Ans o 1. agUr
X 2. diifors
X 3. Jrifas
X 4.5

Question ID : 630680836460

Option 11D : 6306803276584
Option 2 ID : 6306803276582
Option 3 ID : 6306803276585
Option 4 ID : 6306803276583

Q.2 fA=fafad uw A, IR faereul & @, 39 faere =1 Ta= R it fRu 710 21 & sAerdf &u arer
T} farerea 81 81
oe?

Ans X 1.d3T
X 2. 3w
¥ 3. TER
X 45w

Question ID : 630680850338

Option 11D : 6306803330525
Option 2 ID : 6306803330526
Option 31D : 6306803330527
Option 4 ID : 6306803330528
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Q.3 fA=fafad uy A, IR faereut & @, 39 ey &1 Ta9 R it faeT 21 1 9@ a1 faaheu &1
3T
Ans X 1. 3T

X 2. erfAsT
o 3. TR
X 4. efAE

Question ID : 630680850352

Option 11D : 6306803330582
Option 2 ID : 6306803330581
Option 3 ID : 6306803330583
Option 4 1D : 6306803330584

Q.4 fA=fafad us &, IR et & @, 39 e @1 oa9 R it R 7Y 2ree & yafgarh g &1 a&@
frercaadig |
&R

Ans o 1. 3af
X 2. AYeror
X 3.l

X A geaw

Question ID : 630680836492

Option 1 ID : 6306803276711
Option 2 ID : 6306803276713
Option 31D : 6306803276712
Option 4 ID : 6306803276710

Q.5 fA=feafad uw A, IR faet & @, 39 e @1 aa9 &R St Ry 71 are & ea ad= arer
faerea 21

SRS, IfS A Tt Wafa 3 U2 UR SR SIgTdT @ dt SJATHIgIT IHh! Srawdil & 7Td | uchel
Eoil|

Ans o 1. 3@
X 2. SrRTEHEar
X 3.t
< 4. g

Question ID : 630680850326

Option 11D : 6306803330479
Option 2 ID : 6306803330477
Option 3 ID : 6306803330478
Option 4 1D : 6306803330480
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Q.6 fA=fafad uy A, TR el & |, 39 ey &1 7a9 R 5t 2T 71T 2reg & dga 9 &1 9g@t

ferea g1
=
Ans X 1.9
X 2. e
X 3. drar
o 4.dig
Question ID : 630680850330
Option 1 ID : 6306803330493
Option 2 ID : 6306803330496
Option 31D : 6306803330495
Option 4 ID : 6306803330494
Q.7 f=faf@d s 4, ar el § @, 39 frereq o1 wa= &3 St 2T 710 2reg & 909 = 1 98l
farea gl
E5
Ans X 1.35
X 2.&@
3.3
X 4.8R
Question ID : 630680850332
Option 11D : 6306803330503
Option 2 1D : 6306803330502
Option 3 ID : 6306803330504
Option 4 ID : 6306803330501

feraadig
ST

Ans o 1 dfder
X 2. T
7 3. &epr-feuoft
X 4. e

Q.8 fA=faf@d us 4, ar el & @, 39 ey o1 g9 & St Y 710 ez & yafgarh ez =1 g

Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :

630680836490

6306803276703
6306803276705
6306803276702
6306803276704
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Q.9 fA=feafad us d, IR el & |, 39 e &1 oa9 &R 51t Ry 71 2ree & yafaarh e &1 a8
fareaadig |
Qg

Ans X 1.9
X 2. ara
X 3. s
o 4. @t

Question ID : 630680850346

Option 1 ID : 6306803330558
Option 2 ID : 6306803330557
Option 31D : 6306803330560
Option 4 ID : 6306803330559

Q.10 F=faf@a usr &, aR el & @, 39 fArerea 1 9 & St Ry 71¢ 2reg & sMereff = arer
T faerea T8 21
an
Ans X 1.9
X 2. 3SR
X 3. 8@
o 4.8

Question ID : 630680850343

Option 1 ID : 6306803330547
Option 2 ID : 6306803330546
Option 31D : 6306803330548
Option 4 ID : 6306803330545

Comprehension:
H2 Ry M e ° e 2reg ©iT R 7 &, U srged & 9 IR fadhed i man &1 59 weri Rt
HYES ¢ 3R TR faehed § & gatad IR arell fadhed |
T &hTeT & &1 gl oh Ul R TT THTST & SR Aikehideh URURT & ¥ # [4enfid gam g1 =g ahls it
eTfifen ER g a1 v e | feg e A USf et Aoy T ST 8| UiRTiOTeh enarmafi & gere,
e, g 519 geft o1 Ay Hew s T 81 gAR KN g sfeAra Uepfa & arer aremer ere)
_oh%a | TTRIST A 3Ed ¥ Shade thel @Td & 3R Tl T TR e 9| Geh aRE 9§ 37814 TafaRur
Fary s g foram or ofk orre oft #1a ot sifae aeufa ofk Sfta-sigeii & SR AR 81
TgTaRUT 9 Yaehl UTA-ER 3R &1 fohg S 8T & foh AT =t & Il ol fohaTT Siermeer atg
AT ST 28T & | FOres a1 Uepfdl o meaeT T 81 919 ag foH X el o, SI9 eRelt UR g9TRI ranfeedt
RIET fRH T wfte ST Sty gt uR ST 9t & A8 R R M@ agg i Sgd R, e
e, ofR Sigsit @t frer smaft
SubQuestion No : 11

Q.11 figedfdasiamt ARy YuTT ST gl

Ans X 1. Q%A1

X 2.
o 3.
X 4@H

Question ID : 630680836401

Option 11D : 6306803276347
Option 2 ID : 6306803276348
Option 3 1D : 6306803276346
Option 4 1D : 6306803276349



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

GET IT ON
Google Play

Comprehension:

2 g 8 e A o 2 ©is R 1Y 8, U s & e IR fadhed o T &1 59 e
HTYER U¢ SR IR fAehed § & aid IR arell fadhed g |
U ShTeT & &1 gafi o UfcT TR THTST o ST ikepiaeh TRORT & 0 # [Aenfld gom §1 918 &g off
HTfHfen AR &1 a1 Y SaerR | g ol 7 ot &t AT TSl STTdT & | GRIT0Teh ahearsit & gersl,
YU, ge i<t gt ot faiy weea adTan T 81 §9R RN A SfEATa epfd 3 a1y aread et

R & TRTST A Ea ¥ | e thel @I & 3R U BT T R | Teh avg § I6 gafaror
Fary__ s O foram o1 ofk oer oft wHa ot sifae aeafa ofR Sfa-sigeii & SR AR 81
GfaRoT g1 HeehT UTeTgR $R 21 fohg emerf g & fo T eRclt & il ol fohaT sfemeje glgr
AT ST 3T 8| Forad ORT Uepfd o3 TSaIST T &1 319 dg 137 g3 81 oiTdl, 519 &Rt TR IR} *rdtfeea
R R T wfte ST Srera gt TR S 9t S 7 R e SR @ agg A el R, 9
uda, ofiR sigsi @t fArer sirdft

SubQuestion No : 12
Q.12 yEtf Rt ah i MO wa Ve s dagg ft &g TRL, a7, udal, o sigsil & e

Siat
Ans o 1. UTHR

X 2.g§x

X 3. SitaerRft

X 4. drifors
Question ID :
Option 11D :
Option 2 ID
Option 3 ID
Option 4 ID

630680836405
6306803276362

: 6306803276363
: 6306803276364
1 6306803276365

Comprehension:

H2 g M e A e g ©is R 1Y ], ude s & e IR fadhed o man &1 59 weri &t
HHYdR ¢ R TR fachedt # & galad IR arell fadhed 4|

AT ShTeT & &1 gail o Tfcl R TT THTST & ST Aikehfcieh URORT o U # Aenfid gomm 81 @mg ais +ff
Tfifen eR & ar v srawR | g enf & Ot AR YT ST & | ORIfOTeh ahematt & gerel),
YU, ge S gt ot fas He adTan T 81 §HR RN A STEATE Tepfa 3 A1 drerae fHefmen

A &1 TS A B | dhee Bl @I & 3R Ui T THA e &1 Top X o ol gataRor
Fary_ foasmr g foram o ofik oret oft wa ant sifea aeufar ofk Shta-sigeit & Fux AR 21
gfaRoT gH Haeht UTe-gR iR &1 fohg smepf 81T & foh 7 eRclt o il ol fohdm siemeje alg
ST ST 38T & | FO e ORI Uepfdl &1 TTearsT 7T 81 919 9 et o Tél TRI, SeT ket UR goIR ranfeeat
TR 3 g1 te SITQT Sreya gt wR St 9 i A R fee S A ae Al g R, 9
g, ofik Sigeit @t fArer smaft

SubQuestion No : 13
Q.13 ugfeRoT g9 Gt UTe-eR 3R H

Option 4 ID

Ans X 1.7l

o 2. STaTaR

/X 3. ggATan

X 4.98R
Question ID
Option 1 ID
Option 2 ID
Option 31D :

: 630680836404
1 6306803276361
1 6306803276360

6306803276359

1 6306803276358
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Comprehension:

2 g M i A oo 2 ©is R 7Y &, ude s & e IR fadhed o man &1 59 e Y
Y Ue 3R IR fdeped! § & Faid IR arel fdehed T |

AT ShTeT & &1 g&ii o Ufcl TR TH1ST S SIgRIT Aikehieh URORT & U # [Aenfid gomm 81 @18 s off
HTfHes ER & a1 Yo srawr| g i & Ot ot AR YT ST & | GIRTfOreh eharmaff & gereh,
iue, g 59 geit o1 Ay " Saman T § 1 §AR KN q SfieATa Uepfd & a1 areme et

A &1 TS H B | dhae Bt @I & 3R Ui T THAM e &1 Tep X8 I 61+ gataRT
Farr s EE foram ot $iR o off AT ot sifeda aeafa ofk Sfig-sigeit & SR AR &1
TafeRoT H eeh Ut eR SR 81 fohg sapd g & foh Aga el & Silql el foha sfemey alg
AT ST 28T & | FOT a1 Uepfal o Mgt mar 81 o ag fi gy A8t o, Si9 eRedt R geTRi Lranfeet
R R T wfie ST Sreya gt UR S ath & 7 iR e S @ e A e Ry, 9

od e, SR Sigsii Y et sima |

SubQuestion No : 14

Q.14 &R %M g AT uepfa & a1 arede Ao & B
Ans X 1.SH
X 2. g8 e
o 3. Shaq araa
X 4. Rgrar
Question ID : 630680836402
Option 11D : 6306803276352
Option 2 ID : 6306803276353
Option 3 ID : 6306803276351
Option 4 ID : 6306803276350
Comprehension:
it Ry M rerier F 5 g ©ig A 1Y &, v Sreae & amA IR fadhed fear mar &1 59 merier bt
u¢ 3R IR fasedt & @ Taaw IR are fased I |
AT et § &1 gaif & Ufdl R THTST ST SR Aipicich URURT & &4 H [Ieh{¥rd goim &1 91e g ot
TfHeh AR 81 a1 Y e | feg o # ot at HITenR g1 ST & | GRTTOTeh ehermait & gereh,
YU, g2 i<t gt ot faiy Hgea adTan T 81 §9R RN G STiEATa Uepfd & A1 dremd ety
R o TSt A Ea ¥ | e thel @I A 3R Ui BT T dRd ¥ Ueh avg § I6 1 gafaror
Fary__ fosmr O foran o ofk oet oft wa ot s aeufa ofk Sfia-sigeii & S AR 81
TafaRUT 87 et UTeeR 3R 21 fohg smerd g & o 7w et & Al ol foheam sfemeje glg
T ST 38T & | FOres A1 Uepfdl o TSl 7T &1 316 98 & o a1 oiTdl, S16 ERelt U= §oTRI rdifeedy
QR f&H G ete SITQT ST ¢lat R ST ath i Al uRd fUee ST @ S hl e TR, a9
O, SR g et FTer SITaeft |
SubQuestion No : 15
Q.15 Uah kg & Sgi+ gafaror & 9y fereTT dia fomam i
Ans X 1.1
X 2.9uAr
X 3. fgwm
o 4. O™
Question ID : 630680836403
Option 1 ID : 6306803276355
Option 2 1D : 6306803276354
Option 31D : 6306803276356
Option 41D : 6306803276357
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Q.16

Ans

Comprehension:

T TR Y ATFYHR IS SR IR e # I U T4 Sl e IR g |

TS, SITST AR & T2r<h ATEH] # 4 Toh 6| TR 165 1 I =R o1 9 g5 & Foraent oref § I

T Ueh I Y gER WM deh UgaT1 & & 31feres afwhdl & st g1, faemy ok [ra=msil &1 sie-ie=
| AR TR & Rk <F ar sifdes cafnal ot 78, goTRi-aira! AT & SR @t A Rt SiaT &1 59
URR G, faart ofR sirammait ot feifea, Hifaes e g3, siea Aredl & SIRY AthetdTqden Uoh I &
TR I e UG 81 99R 6| 59 UfehaT sl 3T 37 H Hag & aTel aRich §9R AT hgald 6 3R
et 35 TR Aremdl | @ Uk g1 59 SifaReh A, Mg, v, the onfe TR & o0 A1emH &1
TR H FUHT TIATT e T FAATE! Ie.1T Tg! AT foh TS H Thell GI5T i R foham 1 weh, wrafSien
URad AT ST Teh | ST ANTRER § ATk T a1 faenre g, arfores pifaal wfeard! argdrat &
ufd Tl &Y s ht STl ST ah | SEehT SETER0T T8l § ohg U8 ¢elifao W s U9 URmanges Tenifrd
forg q fSrg1 TmTST Y gRTST Bt ST UeT TU T ST o A 3T |

SubQuestion No : 16
IIBT & HTAR Fi--HT FAIhed TaR AT Y T FeA & Ig29 § HafAa =1l 87
X 1. FATS H et qRIsl bt g AT
o 2. raTioie ATl Sfeardt Araarsii & ufa i 6 G g AT
X 3. gmTfSies ufkadT T
X 4. &fAc A1 1 AR A

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680850370

6306803330641
6306803330643
6306803330642
6306803330644

Q.17

Ans

Comprehension:

T TR Y AR U¢ SR IR fhed § & U TS I Faad IR I |

SIS, SIS TAR & F2h H1eaH! # @ Geh 6| HaR 21eq i S =R o1g A §8 & forden oref g e

T T W ¥ GER I ddh UgaT1 & 9 3iferes aafhal & off gem, o=t 8fR sremmedt a1 sem-uem
| ST TR | Rk <t ar erfdes eafhal et 78, goTRI-aIRal <l & STHE=IR et M fohaT ST 81 39
UehR T, faaRt SR srareit @l foifeq, Hifee Ju g2, sie Aret & SRy Atharargdd g I 9
IR WM deh UG 1 TaR 1 39 Ufhal &l S5 37 # 7S e aTel aiich TaR ATedH hgalld & 3R
Y 351 TR ATenH A § Ueh &1 59 Sifafeh AT, Aiasd, Seftthie, thera e TR o 3= AT H &1
TR H ST [T T I FATET I Tl AT foh TS H Theft gR15T A g fowaT 11 6k, ArTIeh
URad= AT ST Tk | ST ANTReR # =T A1 o1 fehr g, arfSies ot wfeardt araarsi &
Ofy R <l T Bl SeeT ST Toh | SYehT SaTE<0T Uedel § s U efifaei Uk o U YRTaTgeh Tehlfrd
foRT g g TS I RISTT Y ST Uet T F ST & T @ |

SubQuestion No : 17

ot us #, ar Rl 3 9, 39 faeea o1 ag9 @& it 2y 710 21eg & vatger 21 o
e i g1
AR

K1
X 2. 99R
«F 3. T
X 4. gy

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680850371

6306803330647
6306803330648
6306803330646
6306803330645
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Comprehension:

9 TeIieT Y ATYER TS SR IR faehed § & Ui U &l 9aid SR gH |

SIS, SITST TAR & Tk A1egH! 7 9 Gk 6| TaR 21ea & AT @R o1 9 §8 & Sretent oref & I

1 ek VI & gER I deh UgeT1 & & 3iferes aafhal & offer g, =i ofk e e eimem-uem
| AfhT TR & Rk <F ar sifdres cafnal ot =&, goTRi-airal & & SR A fohaT Siar &1 39
UhR T, faari ofik sraeit &l forfea, wifes Je gra, sre arert & SIRY Aoherargde Tah @ @
TR I deh UG 81 TR 6| 39 Ufehar ol 3T 37 H Heg o aTel aiieh R H1edH hgalld 6 3R
A =8 TR A1l F @ e 8| g9 JAfAReh e, Hiarge, S, ther anfe SR & =g A1emH 21
R H FHHI LT e I AT Ie.xT Tg! AT b TS A Thell RI5T T g fham 1 Tk, wrATtoieh
GRad AT ST T | ST ANTReR] # TR I a1 fIenre g1, Trfores Hiifaal wfeard! aradret &
U AT ehl e ehY SreedT ST Heh | SYehT SeTe0T Udel & s U8 Sefifaei R & U URTaTgen Uehlfd
foRg 7Y fOrgI THTST Al qRIT Bl ST UAeT T § ST o I 3T |

SubQuestion No : 18

Q.18 fA=faf@d usr &, aR fAereal A @, 39 fRArerea o1 T = St Ry 7T 2reg & AT 2reg @1 faehea
gl
gRada
Ans X 1.TRoOT
X 2. 95dg
X 3w
o 4. Rar
Question ID : 630680850372
Option 11D : 6306803330651
Option 2 ID : 6306803330650
Option 31D : 6306803330652
Option 41D : 6306803330649
Comprehension:
S TR BT YR IS SR IR fared # & Udeh T4 Sl Faiad IR g |
TS, STST TR & T2k ATEH] # 4 Toh 6| TR 065 i I =R T 9 g & foraeht o1 § Ia
T Ueh I Y g8R WM Jeh UgaT1 & & 31feres aafwhdl & st g1, faemy 8k [rarsil &1 Sie-e
| AR TR & Rk <f ar sifde cafnal ot =8l, soTRi-aira! AT & SR @t A fohaT StaT &1 59
YRR G, [t ofik siramrait ot feifera, Hifaes o g3, siea Aredl & SIRY AthetdTqden Uoh I &
TR I deh UG 81 TR 6| 59 Ufehar sl 35T 37 H Hag o aTel aiich R H1eH hgalld & 3R
At 581 TR Areni 7 QU g1 390 sifafeh s, Aiarsa, SfiviA, e onfe 9oR & o=y A1eny §1
R H ST YT e Al FATET I At o7 o ToTet & Theft gR12T oAt g2 fowarm 11 ok, amnfSTen
URad ST ST ¥eh | ST ANTRE § AT T o fIenme g, TrTfoten iifaal Sfeard! Ardrai &
e AT &t T oY SaeT ST T | ST SETERUT U 2 T UY Selifao UR &hs 08 URTaledh Hentiard
foRg 7Y fOrRgI TS Al RIST Bl ST UAeT T § ST o I T |
SubQuestion No : 19
Q.19 fF=faf@d usr &, aR faereal 3 @, 39 fArerea o1 I &2 51t Ry 71T 2reg & Tl oref &1 faereu &1
TAH
Ans X 1.TWF
o 2. qd
X 3.gT
X 4. 978
Question ID : 630680850373
Option 1 ID : 6306803330654
Option 2 ID : 6306803330655
Option 31D : 6306803330656
Option 4 ID : 6306803330653
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Q.20

Ans

Comprehension:

3 TTEIIRT ! AU Ue 3R IR fdened! # ¥ U U &l TaiaH % g4 |

SIS, SITST TAR & Tk H1egH! # 9 Qb 6| TaR 21ea & i @R o1 9 §8 & orden oref & g

T Tk W 8 GOR I dh UgaHTI &1 9 31feres aafnal & offa gae, et sfR siremmett & siem-uee
| AR TR | Ak <f ar eifdres cafhal ot 8, soTRI-ra! @R o SFEER i MR fohaT Siar &1 39
UhR T, faari ok sraeit &l forfea, Hifees Jo gea, sre aret & SR Atherargde T I 9
TR M Jeh UG 6l TaR ¢ 1 39 Hfshal i 35T 37 H A& e dTel aRich HaR HTeTH hgelld 6 3R
A = TR AremHl F @ e 8| g9 AR e, diarge, S, ther anfe TR & g A1emH 21
TR H ST TSI e Al FATET I At T foh ToreT H Theft 15T oAt g fowarm 11 widh, AmTfSren
GRa AT ST §eh | STH ANTRER] # ATk I o Iehme g1, FrTioTen Hiifaal Sigardl Ardrsi o
gfy ST el T ehY SeelT ST Yeh | SYehT SETE0T Tedel § s 08 Tefifae IR & U uRTafges uehifard
Ry TQ fS=g1~ THTST Y RISTT ot STT Ul TU & S=dT o 91 T |

SubQuestion No : 20
IS & TR R # fohea= &l & S=iaR ot enfae frar star 82
X lgogdanms
X 2. a1 g sifdes el &
X 3. uiRarie &t &
o 4. TIRI-ArE! AT

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

630680850369

6306803330639
6306803330637
6306803330638
6306803330640
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